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Check the question paper for fairness of printing. If there is any lack of fairness

Instructions : 1.
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams
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Note : Draw diagrams and write equations wherever necessary
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CHTHOBBHH GMUT BLeiT allsnLulsnaid Cairdg@l 6110,

Note : 1. Answer all the questions
Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

. felsCal Beefar oigliuemL agausnioliy SIVG

1. [Si0s]* a1 [Si0g* @. [Sio] m. [Si04]"
The basic structural unit of silicates is
a) [SiO;]* b) [SiO4]* c) [SiO] d) [Si04]*

2. oopsLsslemms uwsiLbL  Hedser,  Oggiwrefuib Gumetim  Heflomise

(wenpulled SruientLGHSULGS e,
Sl QB HF60 CeutILtLBHSHIHe0
B). eiLev HGHH S

Elements like silicon and Germanium to be used as a semiconductor is purified by
b) Van — Arkel method

d) Electrolysis

Qb CUTEH - HTHEL (Lpemm
. LOIGIENTHLIE 8860

a) heating under vaccum

c¢) Zone refining
3. ous6sm sufsomissien ybAmBabn Husr auflans

o1 HOX > HXO, > HXO; > HXO, 2 HX04 > HXO; > HXO, > HOX
@. HXO; > HXO0,4 > HXO, > HOX 7. HOX >HXO0, > HXO, > HXO,
The oxidising power of oxo acids follows the order L}

a) HOX > HXO, > HXO; > HXO, b) HXO4 > HXO, > HXO, > HOX
¢) HXO; > HXO, > HXO, > HOX d) HOX > HXO, > HXO; > HXO,
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5 Eml’@@grr@wL (Cr,0,)>

9 omasal Cr—-0 Ve,
dichromat : .
In the € anion (Crz()y)z‘ LOWDHm e
2) 4 Cr— O bonds are equiva]
ent
c) All Cr— O bonds are €quivalent b) 6 Cr — O bonds are equivalent
d) All Cr— O bonds are non-equivalent

pgaLsd VTS G gy
MG
M9 (Bsotensn Gaudeafms) Lsaimn FoRBEDST ofs UYE

Sentillensu ey :
LY IDLUBDSIUE g

o B 2. CO
According spectrochemical seres which @. H,0 g, CI”
1ch of the

cause maximum splitting? following ligand produces strongest field and
a)F’ b) CO
: H,0 dyCl-
g (PSHEL 6UDS  Gllemeurd ¢) H
%9 a . 5@, alomaGas wihed 6909 min' eeflsd 75% P e
@um 560')6)“_1”601 SIT6VLD (".Jqlﬂl_r\_"x]&sﬁ)
FF z lo —Ai
AENEE

3
o | = |log?2 _ 2
(2] = (3)104%2 @. (%}Mg[%]
% conversion v

or a first order reacti - - .
F on, the rate constant is 6.909 min™ the time taken for 75

minutes 18

2) (%JlogZ b) (%)log2 0 (%)bg[%) 8 [%)mg(f’z— )i

7. (pelLenLowl BONFFSH] DHOGHSInL 196 (fcc) QuTSayh Hme
. 68% @. 52.38%

The packing efficiency of a face centered cubic structure is
a) 74% b) 68% c) 52.38% d) 48%

8. Qeul G&@Uué &6VEM 60 O ETGeHmLD
o, GpifsTpmeiey PbSOs 4TS Pbays GBGELMLEDS!
a, Gpidsipenenuiied PbSOs sl P02 &5 o HEICaIBDLOMLSBE!
8. adifsrpeneuied PbSOs end Pb 4% @@és&wsmL%\m@
v, adlisiapsmenuis PDSOs TS Pbays SysaIGEIHDODLEDS!

- - J storage battery —— i
a 4, on anode 1

sl 74% . 48%

(charging) Qe Gural

d) PbSO4 on cathode ix oxidized 1o Phy

. b
¢) PbSO, on cathode 18 T educed to@P @fﬁ??qwﬁm@l?
9' lj] . . . atfﬂu_JH'E LI
git 61 iy
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10.

11.

12.

13.

) \ 3 " 0 ]
Which one of the following cotreotly matched?
a) Emulsion ~ Paint
b) Liquid Aerosol - Milk

¢) Foam - Pumice stone

d) Gel - Butter

Qoo Bumsnt igsdr wengaduedl Quighthes 0] 32 X 10V aalled @bell HHTHWST LY
ol L8x 10°M o L6 x 107°M @ 2x10°M v 4x 107°M
The solubility product of lead iodide is 3.2x10™, its solubility will be

a) 1.8 x 10°M b) 1.6 x 10°M ¢)2x 10°'M d)4x 10°M

Siiuemansd Gaionimellsd wehdbwoni Guidond aflsvarier QuIgcuter aflnardmer euflens

Sl HCHO > RCHO > CgllsCHO > RyCO > (Colls)s
@, HCHO > CH3CHO > Col1sCHO > CHAZCOCH, > CoHlsCOCHA
&. CeHsCOCeH;s > CHL,COCH, > CollsCHO > CHL,CHO > HCHO

F. HCHO > CH,COCH, > CelHsCOCsHs > CHLCHO > CoHsCHO
The general order of reactivity of carbonyl compounds towards nucleophilic addition reaction

is

a) HCHO > RCHO > CoH;CHO > R,CO > (Colls):

b) HCHO > CH3CHO > C4HsCHO > CH:COCH; > CoHsCOCH;
¢) CsHsCOC4H;s > CH;COCH; > CHsCHO > CH;CHO > HCHO

d) HCHO > CH3;COCH; > C¢HsCOCHs > CH;CHO > C¢HsCHO
Pl QYEOBQDTEOEET [IHHBEID  eNlsnaruisd gflensni  Se0BOMTELSEMsTIATL

CNii]
s161llzglsd  FBUGSDSL.

STJ6RILD oflenewiw  Quevsamrems el (ellmemil  LEOSOBTESET  susdlento SMDBHH
S|LBl6VLD.

Sl SaBm  HEUD  eryemd  @ewiGl  gf  Gogud STINIOTNHI  SBUibsten  Fhwrsr

&6 & LOM G LD.

& SDO  wHpID s @enEn  sfl  Coaud sTEMOTRIE  swBfbETeT  Sfutst
elee SLAsLMEL.

®. enmm M Sueoimed SMyewIDd Heum

F. D@ WDEID &ryembd @yem®Gid Heum

Assertion : Tertiary alcohols undergo dehydration more readily than primary alcohol.

Reason : Tertiary alcohols are less acidic than primary alcohol.

a) Both assertion and reason are true and reason is the correct explanation of assertion

b) Both assertion and reason are true but reason is not the correct explanation of assertion
‘ HEN

c¢) Assertion is true but reason is [alse
d) Both assertion and reason are false
Ueiupo sllwsmanfiensuliist elenenGurmer X g HEWILnflas
C,H,0C/—"— C, H,ON —tukou CH,CH,CH,NH

(x) -
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14.

15.

oi. (CH;),CHCOC;

®. CH3;CH,CH,COC; < CH3CH,CH(OH)CH, ¢/

. CICHZCHZCH2CHO

CH,0C/ M
+H,0CI C,H,ON —Bukou CH,CH,CH,NH
2 2

(X)
a) (CH3),CHCOC/
b) CH3CH,CH(OH)CH,C/
c) CH;CH o o
3 2CH2COCI d) ClCHzCHzCHzCHO

m - oL enpL CrrGuside . _ - .
- e-Len (NHq):Sy sllewen ufiba GenBaen wassnn elamsmOurgs

NH,

NO, NO, NH,
NG /@ CL Q
3. 2 &), H,N NO, 8. NO, g, HS NH,

The maj .
JOr product of the reaction between m — dinitrobenzene with (NH4),S; is
NO, NH, -
2

a) QNOZ b) HzNQNOZ C) ©N02 d) HSQNHz

LI SSSler @remimbmslenso SIMDLUTENG! 6T6nSH GHHHDSHI?
Sl UTelEUUSHLB pasgbLsH HIEDEOWITEN 6UF SI6HLDLIL
K. B CQeumisEid Qe uiGssit

8. o — SUbBeT Sufevrissis suflens

F. O — &6 (pHIGCsEaIDL

The secondary structure of a protein refers

a) fixed configuration of the polypeptide backbone
b) hydrophobic interaction

c¢) sequence of & - aminoacids

d) o - helical backbone
ugd — II/Part—1I

geH@ID QY ONTMEHEHES eleoLWefbs, ellem eeml 24 &@ SLLTWLIOTS

aflenL W6 Sa|LD.
Answer any six questions. Question No. 24 is compulsory. | |
BisnTLisL (pemmuiled GODBGLD STYEIBST ums&tu(Bej)@mJgssm seuflwd wrg?
What is the role of depressing agent in froath floatation process? .
p GamevggaiisensT sl lggud . Lierflen o6 MmaHDEDLWE. 66!
Why fluorine is more reactive than othe

s dpe QUBHSSD auemTIDI-
lubility product of a comp
LOMBQ3I6Y

r halogens?

Define so . ; 58 G
16 GalpLOLONS
P FeON S0
o glpods BT
L (BL63T cllen &S

gent is added to C

al|pLigem
Bpibe
Peptising a
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(216060F))

b) 1) ursbiowndese whgd LrediosHAamse) .611“’:; IIII .5rr601 U - aNibEed LoMMID DUgny,

i) 96 eiwp — ehmp @mandn WaLGMbS

FLOGHTLITLIQ6M6N  6T(LDHIE. .

a) i) What are the conventions used in Galvanic cell notation.

1i) What is intercalation?

(or)

¢) i) Define Emulsification and Deemulsification.
if) Write Debye — Huckel and Onsager equation for a uni-univalent electrolyte
&S1DE 6T LOTBMBISEn 61T sTelleUT (K1 geumiy),
(1) ®BLCIT Qusiidai —> N - Uevemsvenamt gradsobe
(ii) LTOILGTEDDH — Yoluest - 1 - oufesr
(i) oifeSer — p P— oBLCr oefleSsir

37. a)

(Si606v5))

b) i) QBT seir 6TEIMDTED  6T6oT60r? OIBTa GlFwsbur igeir  eflemen m@@@g}@m elleTH@&Hs.

i) " r&B6L reneny Cmgunp -
CUTWEI sTetten Bl& (b ?
a) How the following conversions are effected?
(i) Nitro benzene__, N — phenyl hydroxyl amine
(i) Propanamide — Propan — | — amine
(iii) Aniline — P — nitroaniline

UTEHTsd  sevemey  (Lpsitedilensoulsy uGHwene @BHGLD

(or)

b) i) What are enzymes? Explain the mechanism of enzyme action.

BEMEFEHTEH  cpemevulied X SIS & (6ThLD

QupIEmE. SIFCF T L0 &) et UTWILILITG  6reiten?
i) CsH;,0 STEID  APEOSHG ULy

Camguid SMLIFEOEMLIL (BL_ 63T W]loF: 3

_ QL g5 SICWrGLmumin
ellenend, 2_Lubang.  Gaiwip (A) D) Qus\ﬂfm&,smgarsmsu PBE G0
6Teilsy G ioth (A) eveu ST,

(SI6060g))

BT o Y o 4
OB, Guogub @soe
B oAntaipn Qe (D)
TOBO Qi g @rsr (E)
NS 6merr 67@@[&3.

e (C) g QWS

C, D wign E Fove
 J L) ) m lj]
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i) A carbon '
. ¥yl com
Precipitate iy SO[(th‘)lmd ‘A hzrvmg molecular formy]lg CsHigO forms crystalline
tum bisulphite and gives positive iodoform test. A does not reduce

fehlings solution, Identify <A*
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n paper II

— I questio
wrdf elemggren 11/ Model q dary Second Year

GustElensy @ediLid HeWB / Higher_SeCOH

Cauguiwsd - Chemistry ] .

(symdeotb wpmb s / English & Tamil Versnorgwr@g) el |

&SMeD ofertey : 15 BOLMissit + 3.00 Loaxf Maximum Marks .,

Time Allowed : 15 minutes + 3.00 hrs "
: { gflumir
SimANG5H  alQTESEHD FOUTSI UHeurd 2 _6TeNST  ETETLIHEN S\

Sileyengessit : 1. e opsiuSelsd  @opupils oops  SeETEALLTETAL
2_Lempuress xfleldseylb. C
2. [Bsuih ’ (zsbsf@) Gumcr_raﬂu soLouilene oG sy
S&ECHMYBASBGL LWRTURSS GousiBd. ULMRISST euenJousDE Gusidlsd
UWISTUI(B & FH6LD.
Instructions : 1. Check the question paper for faimess of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GUUY : Camawnsr @ &8s LLib EUMIhH FLOGTUTHSHENET 6T(LDHALD.

- Note : Draw diagrams and write equations wherever necessary
ugs — I/Part—1I 1I5x1=]

iy : 1. simarsg sllamésEhs@h aflan wefldbsab
2. QEM@saiu’L BraE oL seailen Ulsab ghysmLw efmLenws CHIbOsGsHH

GO BLaT ellenL ulsneiuyb CabEHl 611915,

Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

1. Oeeumsuareuimysit SHOUBTET FaBml 6157

9l [Ni(CO)4] — presnqpa, UTITSTHS  &6TenLOW|nL LIS

2. [Ni(CN),]* — SENEHITID, MLWINSMHS SESTEMLOUEL U1

8. [Ni(CO)4] — mrerpa, LTSS SHETEnLOU L ULIZ

. [Ni(ChHg]* - BSI(pa], LnTaeha SENMLDU[EDL_LIG)

Which statement is incorrect?

a) [Ni(CO)4] - Tetrahedral, Paramagnetic  b) [Ni(CN)4]* - Square planar, diamagnetic

¢) [Ni(CO)4] — Tetrahedral, diamagnetic d) [Ni(Cl)4]* - Tetrahedral, paramagnetic
2. evamriGur LmeroLIgerd - L6088 et BT SHSHI6ULD

9. 1 . 2 8. 3 F. 4
The basicity of hypophosphorus acid is
a) 1 b) 2 : c)3 d) 4

3. Sbm : QuICLied Ligesmyd BI&smIssd sifevssemmio UTUIb &g,
SIyemID : opfelwn FeoGur £grrgbu@£1uamuug3rrd)
Sl FBOmI wBYId sTyewmD e & Guosuiib S ML 6135 FOPHE ey e EID
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O Inhl B
) LTYS I TV T T BITEID  @Eyendi(Ri
MNSIBIBID6060 oo ol

Gogunp
&I Bl
. gmbum o o T e
QLA  SBIT 6u0I1
) ™ ! MWD &6
[T N\ B e
N nBEIWOBOIe  snyemid QYEIICI
ssertion ¢ wid
on : Aqueous solution of pot: i
Reason £ Alon potash Alum is acidic.
s inium sulphate undergo hydrolysis
oth assertio |
NI nar i arec 1
b) A and reason are truc and reason is the correct explanation of assertion
assertion and reas \ 1
& Avsot and reason are true but reason is not the correct explanation of assertion
sertion 1s true but recason is false
d) Both assertion and rcason are false

QL S1pemeBEaTss  CLmGHIeuTe QSHCanbm M
] : 1} 6M6V.

3l +2 4
The most common oxi:?itio:, state of Actinoii. is+ 4 "

::)_;ilgsmwg b) #3 c) +4 d) +6

. Q_®$@g)irr@6m6n Oeusiefwsbasdelelmhba LNNGEOSEHEGL (LPHD

. UBISHHEL &), Silsoeon &pedisd UBISHSHED

W(;lfrarrfite ore is separated from tinstone byF:lleLﬁ::of::f otl‘j FHLER

?) meliing b) Calgimation c) Roasting d) Electromagnetic separation

ﬂ@m@wmmm@m 615 HADTEE?

o1 Oprdseis Qwsur oL HEHSH BFFHUBSHS (PYUD

o, Slenewl OBrHserienmsd CbTHserilen sNenaGausnip CFwUIG GmBSDE!

8. GpTg elmaGals IBDOTNS IHE BHihe GFWeMBEID HENEHOMU QuIBmIsTENS!

5. owenwilear pH  wdlsmul  GUTGSS! Opre  elenemGausLonBn lenensmenest  Gousld
MBI DS

Which of the following is incorrect?

a) Enzymes can be inhibited (poisoned)

b) Catalytic activity of enzymes is decreased by coenzymes.

¢) Enzyme catalysis i
d) The rate of enzyme ¢

Gurgsons 9650 LD

s highly specific in nature
atalysed reactions varies with

et LD LSHOD QLB

the pH of the system
[ieiTeT sTeudL_TeEallel  ETEmISN BN

. 6.022 x 107 7. 6.022% 107

0 colombs 1S
d) 6.022 x 10%

CC) elefiby Bemd 842 pm

&, 6.022% 10%
e a total charge of 965

0) 6.022x 10%
SIVE gatigeir (F

o 6.022x 107
The number of €l
2)6.022 x 107

. 9% 2_GersHBIN
aeflsy, o _Geomd

ectrons that hav
by 6.022 % 10

, el

@&E»UH aow & A0

@Jaﬂ&'ﬂ S0 _— 8

H; —

12
2
3. 0.04 oy 00
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pm. The radius of the metal atom 1S A° |

8
c) 8 x 107 95

b) 0.02

In FCC unit cell of the edge length is 82

a) 0.04
2
on eloeuls alsaGous Lorr_qﬂs\ﬂuﬂsar wALy 2.3 x 107 lit mol's™

9.
sl sIaInsH
S U suens . (IPSHED UMD 6. @emiLaD s F. (PSIBTLD f”“’éﬁ
The rate constant of a reaction is 2.3 x 1072 lit mol's™. The order of the reaction 18
a) Zero order b) First order c) Second order d) Third order
10. JdsaumausTaubmish @enmeurs SO WHFIQUI HlenDpeyprsd 2 LLs Smjaev 61?7

Sl Swell Qumsshd > sordpet Qumssh (Ksp)
Q. swell upssd < sardpsit Qupssw (Ksp)

8. gweal QuEpssd = sordpar Cuesshd (Ksp)

F. (o) wppd () SresiB
In which of the following cases, the sparingly soluble salt solution is unsaturated?

a) Ionic product > solubility product (Ky,) ~ b) Ionic product < solubility product (Ksp)
c) Ionic product = solubility product (Ksp) d) Both (a) and (b)
11. O&eumeusmeubmst o1g1 sfwres QUTHH SN0V

+CH2 C=CH- CHZ.]i

Sl BCwriifesr
O

- _f.NH-(CHZ)6-N}lco-(c1{2)4-&.]E
0
- OCH, - CH,-0-C ¢
~HOCH, “CH;-0:C- )= C e

o

Q. MBELTHT — 6

@. GLMeSer

F. utelloisfBeor enBELenysd — —[—CHZ-CH -]ﬁ
En

Which of the following not correctly matched
_[..CHZ C=CH-CH,

a) Neoprene

-0
= +NH - (CHy)s - NHCO - (CHy), - E_]_

b) Nylon - 6

c) Terylene - +OCH2 CH,-0-C _Q_}E+

d) Poly acrylonitrile — L CH,-CH O
T8 Js

12, derumh smppisefsy agi Filwrerg?
9. BlysaflCurens® + umeouries ouflson —> @méaﬂ@mr{mL(B

. PyselCunens® + smpn — BluseflCurent @
GREEN GARDEN MATRIC. HR. SEC.

8. Fidasmy + s — HysaCuTms
g Bl ® SCHOOL
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13.

14.

15.

16.

17.

18.

19,

20.

aflepLweBEaL.

hich .
W ;;c of tl.1e following statement is incorrect?
a) Nucleoside + Phosphate — Nucleotide l

c) Sugar + Base — Nucleoside 4t Al BN iEo

d) n Nucleotide — Polynucleotide

|j60T61I D STy
®W  elsnenules ‘D sllenenQUT e a6,

CHJCI—EN—}A——H&Q__)B NH, sC A D

93I. CH;C
Th 3CH,NH, <. CH;CN @&. HCONH; #. CH3CONH
€ product ‘D’ of the reaction

KCN +
CH3C1 S AHHO p NH, oA D

a) CHgC(‘)HzNHz b) CH;CN ¢) HCONH, d) CH3;CONH»
3
NG
= .
7 OH @it IUPAC Guuwii
oL Ul - 3 - menmuléendson o Gy - 1 - Fer - 4 Spuidsufeod
. lj]U-IL‘Z-FFSﬁT-l-&l,Uj]&B SIO601D F. lij—B-ﬁsér—l'%Ujé’aLﬂmm

. 3
The TUPAC name of MOH is

a) But - 3 - enoic acid b) But - 1 - en - 4 oic acid
b) But-2 -en -1 - oic acid d) But- 3 - en - 1 - oic acid
LleireumeueeuBmIsiT 61% 6uslenio Hs Siblevd?
3. 2 - enBLByriemsd ol 4 - @BennGymiemmev
8. 4 - e»pLBymismTsed F. 3 - enpLCrmisnmed
Which of the following is the strongest acid?
a) 2 - nitrophenol b) 4 - chlorophenol  ¢) 4 - nitrophenol
ugg — II/Part—1II
ollerm ete®r 24 &H@ SLLMULILOTS

d) 3 - nitrophenol
6x2=12

gBHEID <UD eflameseEnsd el weliss.

Question No. 24 is compulsory.

Answer any six questions.
SAwsumBleir Bissamyassst  CeusiGop HIB(LpEnL LIS

[Fe(CN)s]* wipmid [Fe(H0)l”

qsﬁ? 2+

[Fe(CN)e] " and [Fe(Hz0)s]

Lu(OH)s g La(OH)s & ! ?

Which is more basic among Lu(OH)3 and La(.(?’H)f? Why?
5 g6l ) Genmlar SuImfllLmu:

SIS S sreueuTm & o

How will you prepare € - oratory

upiiy e Hee AprwsoLss L s

What are the characteristics of adsorption

)asz'srg}rrsi) eT60160T 7

are of different colours in dilute solutions. Why?

Hb S HSHHEDD 2 WL WS aipl? gyei?

hlorine in the lab
Temeu?

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.

HTMHIGHE0 616001 B
PH: 9486379461, 8344933377

What is Buffer index (B)?
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21,

22,

24.

25.

26.

27.

28.

29,

30.

31.

. ' alemJ &b,
= D(+) @6m88mmentyGesrendesr  @iemiol16nL 4

Write the structure of o — D(+) GIUCOPY”""OSC'. . b Gahm  GNENETEDL  6T(DEIm,
ShBHeIs dlmendmrensy QLI DB DIOSDHI 6T DHENIEE

_ ' ] Todic acid.
Write the chemical equation for oxidation of ethylene glycol with per

A : 10601 7
L6 DIIDBIIIBH S D6 2_1 660 sreueury GaFusoLfalemen

How the transquilizers work in body? ) - i
; ; . 06iEBE0HBHT S|
Bsiibevh@sd Zn(s) + Co®t = Co(s) + Zn*"  awsiip eflenen Paspdps!

emf @membaBas. AELCE: AT E;’MZ",,, =+0.76V, Egy,@» =+0.28V

The reaction Zn(s) + Co?" — Co(s) + Zn** occurs in a cell. Compute the standard emf of the

=+0.76V and £, _ .,
ug® — I/ Part - III

cell. Given that E;’”/Z"Z, =+40.28V
‘ c o 6x3=1]

ICa@Id ey olemssensg olmLwsfos. eleam ek 33 &G &L LTINS
sflenL.iefas s ayLb,

Answer any six questions. Question No. 33 is compulsory.

S&bhSH 2_STJeIbiasEnL 6 661 @S,

ljo‘dmu@susurmgjsmm
. B BFH

Bl &M ons
Explain the following terms with suitable example.

a) Gangue b) Slag

ZICwrensvl Bassir LBy Uiy euenys.

Write note on Zeolites.

afelluid  omgb D41 &6t o1 UWISTIGBEmeTTd;  &(heb.

Mention the uses of Helium and Argon.

OuT@eiT emLows BFFHIT DHHLOLIN6D QLT BleydsSmetr FHNBHHHenend BB (B,

Calculate the percentage efficiency of packing in body centered cubijc system.
o siflrenib SMLUID  Hmenen

WeiiGoud)  sufena SIMIL  eTeiien?  Bevsufens 666U
SPGB EmE?
What are electrochemical series? How is it useful to predict corrosion?

. t - fuy b &Csmeng () Cl, /FeCl HB
ENE T Vs - A ‘—3 3 B Ar >C

A, B, C ygfluisuien B Mfls. Cuoaib efenanusnsy Uisg QFuim.
TeCh,_y p ® 5C . Complete the above reaction and Find

. t=butylehloride hé
Anisole y T

DBDID  ysdsamsd Sovps KOH 2Ll Gefion (C) B Osrpsang,. Guwaud (C) g
aflnsnBouss iy pasfapsoulss 905D Gy N — CLEHD  eyeedsir HevL&Dma)

aafled A, B wpmuh C &8 sWby — eleamsamen ST(DSIb.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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32.

33.

34.

36.

An organic Compound (A) on

alcoholic KOy gives (©). (C) on cat

and write jtg €quation

11) Write two tests to identify
Sitan¥efwier FLOGTUIML 61
orledssit  (1penmEL ki o

reduction gjy
es
& compound (B), (B) on treatment with CHC/ and

carboxylic acid.
LweuGSHs, T, wpgd  To

GautiLensonailed

alyti - -
alytic reduction gives N — methyl aniline, Identity A, B, C

alen e GoNn

: oo K eysusmapst g meledmbn Qeniom auimsd
i i TR Aoysefedmba @eniou  @ibpesd  Ey

i%)&' 5@31555]@[_0 ELDGUTU”LLQGU)&}'[$ 61[@6)5}&&3 N
erive Arheni : >
€nius equation to calculate activation energy from the rate constant k; and kz at

temperature T, and T, respectively.

BOEETEID efleTsasenss,

ugs — IV /Part-1V
sllenL_wiesseayib:

Answer the following questions,

a) 1) CamBsorgsfent & Gaiomseisnr Lswiy®st wWTsne?
1) &f wHmw CO S @revigg st ZnO  sneu @BH®, ApHH BH@D el

61517 ey6ir?

(DE06V&)

b) QU Lrdwd L GBrmGr. swrlssmen silsmdses.

a) 1) Mention the characteri

stics of interhalogen compounds.

h

th
Il

o
h

ii) Out of Coke and CO, which is the better reducing agent for the reduction of ZnO? Why?

(or)

b) Describe the preparation of Potassium dichromate.
a) i) AICh o18s HeneoliSHeienloulenL Wl ayamsv TICH Heaveoishsaienowbug. eei?
ii) o _Geums @TiLmENTEEe ST Usneminies Setenouienar ellsndgd.

b) i) BrGsT eflenenGeus LOTH

ii) Gaefleurer euewIULS

a) i) AICl; is more stable where as

ii) Explain the bonding n

a) i) What is Nano catalysi

' ' m.
.y Explain ‘f” centers with a neat diagrar -,
b ol a1 BITE0 QsTensLILbGS

(/606U

ature in metal carbonyls.
(or)

s? Give example.

- D EUDSB
a) i) @ WpH . s TGS

if) yeirel @DUTGSST

_ an 0P
b)i) pH LoB@ILD POH & @@Lg?;aﬂ@bw@l e S
< . meir P
ii) Guomeor sy P
ﬂﬁmujg,aﬂu@&ﬂm@'?

(DisVVE)
mLremLl su(Bedl.

LD 6T6NIBTED gretten? £_SITewID SHHb.
giLar ‘f epowmkisemen el G %.
TIC/, is highly unstable. Why?

QuUmHDHS

Perundurai R.S.
PH: 9486379461, 8344933377

HUILIL L. FLOSILITL DL (el

ogiltiy

ST
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a) i) Derive integrated rate law for a first order reaction.
i) Outline the classification of point defects.
(or)
b) i) Derive the relationship between pH and pOH.
ii) How solubility product is determined from molar solubility? .
37 a) i) eveutan aybegBaimib BEID EOETLLET Quemper aflenedr LM @uﬂuu. SUED] &.
i) oilpd  oudeodedsdmis) oflLd  oufleopiled whpd Lo  GGamenyg
sTeleumpy) SuwniabsliuGalng?
(SVVSVS))
2 Wiflw wsalwugsioubmsd onpis.
ii) Qurg s Qamagliusney (TFM) WY uBy Gty aenys.
a) i) Write note on Swern oxidation and Schotten — B

b) i) euIBsefes

aumann reaction.
ii) How will you prepare acetic anhydride and acetyl chloride from CH3;COQOH?
(or)

al importance of Lipids.
if) Write a note on TFM value.

b) i) Mention the biologic

38. a) i) gmuguis (monomer) Gspieuremgy 0.05 mol L s 2 sien @ouy  (dimer)
2-QUTGL BFemLnbd suens efleneruisi aflemanGeustd 7.5 x 107 mol L' 7',

(T
wrmledulenses T ()1
i) eireumd eflensmenw Uisg Geuis.
X = () O3 2 Mg - Hg 9
d‘H (ily Zn/H,0 “
3

(SVevg)) _
b) C3H4(A) s16im miflog Gaiiob Hg®* / H,S0O, BCIBmLMLBES Csion (B) Qarhsng)

ww (B) AsH NH, — NH, / C>H;0N:
2_Ler elewer Lflhg) manLGrrariue (C) m&

SGSDE.  BirHs N.OH psirafsnsoufs:
(B) «eigr HCHO o (g AnaIULG Gaiwon (D) BS B6Sw&. A, B, C wppb D g
&wiBUlY. eflsnersenen 61(LD&IS.

a) i) The rate of formation of dimer in a second order re

(B) <iGwrmuninb CarHenends @, 2_Lupw. Gai

action is 7.5 x 103
constant,

mol L™ s at 0.0
mol L*! monomer concentration, Calculate the rate

ii) Complete the reaction

B i) O, Mg - Hg
(*) CHy-cH=c-cH, _0% _, CH;COCH,; —f_Ep 2
dy,  (i)Zn/H0 L
3

b) An organic compound C3H4(A) on hydration with Hg**

gives positive iodoform test. Compound (B) heated with NH; - NH, / C;H;0Na to give
hydrocarbon (C). (B) also treated with HCHO in the pre ‘ g

. sence of dil NaOH gives compound
(D). Identify A, B, C and D. Write the

GREEN GARDEN MATRIC. HR. SEC. scﬂ](gg’ﬁcal reactions involyed.
Perundurai R.S.
PH: 9486379461, 8344933377
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Gw@{ﬂ@;")"gﬂg ;Tﬂjrﬂlfgsrrsh 111/ Model question paper 111
Qei®B / Higher Secondary Second Year
ey .Gﬁfﬁluﬂm?‘b - Chemistry
oo S8y : 15 QDL et _lfaﬁ!;m::;mﬂﬁtﬂw / English & Tamil Version&w”- BT
rime Allowed : 15 minutes + 3.00 hrs gﬁaximum Marks : 70
oI : 1. SiwasE elamesennd Flursl L

: 70

& o _sienHT  6I6TLISHEN6 FAUTTSHSIH

Qs msiteneyLd. oiFsiLdalsd  Gampulmulst  SmBE seamemfiumenii D
2_Leangunesd Osfaléssab.

2. geotb  (owveom)  sGUY  evwulenen  WwLEGEW QBINBHOL
SigEGETYEASHGD UUSLGSS GoumiGh. ULmGs oasDe Gusidled
LweTUG HSHOLD.

Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GO0 : Gamauunear BLSH0 ULD eeihe FOUTEEMST LSMUD-
Note : Draw diagrams and write equations wherever necessary
: ugd — I/Part—1I
GIElY : 1. Simabs elenmssEnsGD ellenLwell&sab
2. QaEMEé&sUIULL Braig ealamLseisd s gmysnLw 6l
GULI_BLer elenL_ulensmu Gairdhal 61(IHIS.
Note : 1. Answer all the questions
7. Choose the most suitable answer from the given four alt
option code and the corresponding answer

&Cermenr (b Gamglid ML &M E1p60 ngpasT 1H
Swerfl

@) CrOs ) Cr203

15x1=15

oL enwSH Gg;frgb@g;@&_@

ernatives and write the

1. @@rmenLos pésorsme QsTOSSS
6T LoEHEST FMSSIDE STTEToTLomeT
- 2-
) Cr,07 2 3y,) CrO4
olution gives yellow solution. The yellow

Chromyl chloride when dissolved in NaOH s

solution contains

a) Cr207 z

C) CTO5 d) Cl'zo 3

meaTL Lilg& yeoLoiflerr Ligs 9| FHESET Lo Gemrevhisseisor Qe

) a=b#c a=p=y=90

m) a=b=c¢ a¢ﬂ¢y=90°
and angles respectively in hexagonal crystal

b) CrOs ~

2. amis aupeud @6
) azb#c a=p=7=90
@) a=bzca=p=% y=120°
The arrangement Of crystallographic axes
iy b) a=bzca=p=7=
a)a¢b¢ca=ﬂ=y=90" . =90°

V;; 90° y=120° d)a=b=ca¢ﬁ$7’—

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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) L&J-ﬁ‘éﬂrgfgjtﬁ i 5141

3. ClussfEIsbl6T 6T6mTLIgY ST6URIED) T
) by F&4)

o)) susll Glsumysanf]
@) 2_soorslptily 2516, F) 817

Penicillin is an example of L
a) Analgesics b) Antlb:-otlc
c) Anaesthetic d) Antacid

huomear Lommfud

[Co(NH3)4Br,]Cl - stsirm gjsmeomeé CofwsEnG 675

o) suiz6u LMD DpwerlluTEe) Lommeflud

1) e HmID el spné mHBUD

@) paephd whmib ouwsfiumge wrHBkub
) suigsy Lomprlwid ol (Kb

Which kind of isomerism is possible for a complex [Co(NH3)4
b) geometrical and Optical

Br,]CI?

a) geometrical and Ionisation
¢) Optical and Ionisation d) Geometrical only |
g s 2 Canald SOTSDE  SLETTE

5. eapm: Biss oplflé gflushd m
smamLreeir sumy GeusflGumieudlsismen . N
sryewin: ol fE ouflun @n ednGarmn 8 EMAUDLITEREmETT  DLSEIZ TN

Csifmg). o .
9)) F~OmI HmID Smyserid @Tesor(BID &1fl. SMy6TTLD o MM STET SFITer eSlsTSEL LG L.
o) G ) LoHmith SMyswTd @Teor(lh &ifl. SMyswTd S HmideTer sl afleT&ELD v

@) ey &1 2ETTED SMT6TTLD SHaun).
FF) &a ) LOMMILD SMy6waTLD @I7etor(hld SHevm.
Assertion: A small piece of Zinc dissolved in dilute nitric acid but hydrogen gas is

not evolved
Reason: HNO; is an oxidising agent and this oxidizes hydrogen

a) Both Assertion and Reason is true .Reason is a correct explanation for Assertion
b) Both Assertion and Reason is true. Reason is not correct explanation for the assertion

c) Assertion is correct but Reason is wrong

d) Both assertion and Reason are wrong.
R (WSveums aflenerullsor gyemreumae Smevid 5 HLAIL_riseT sTesfsd aflsmsar 99.9% WomGuD

G0 STauLD
o) 99.9 Bifl_miger  91) 49.95 HLALMissiT @) 50 Al misst  m) 10 HIBL_missi

The half life period of a first order reaction is 5 mi : ; ‘
e nutes, the t > 0f
completion is nearly equal to tme required for 99.9%
a) 99.9 minutes b) 49.95 minutes : /
: c¢) 50 minutes : .
GREEN GARDEN MATRIC. HR. sgc. SCHOOL d) 10 minutes

Perundurai R.S.
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10.

11,

& EH&EESH TN R 216 .
. %m@Lﬂ'ﬁ'ﬂ] ﬂsﬁﬂﬁh ]_ﬂ . . .
2) 881 yéardlen ClaGlugssme TINGLD eTESeflmar @& enéConeise AUTGESTS?

g.;) @@gﬂ eg]'ﬂé"mmi(ﬂ Sy evsflyL_sdr aflsmerTL(Hsudshsmey
& R5Cameneor Clar@lugsemsy

= !
) @81 Lreusafenr Srenflsnil 6(H\&(Gmdfeme

Glucose i

1S an aldo i . . :
glucose? se. Which one of the following reactions is not expected with
a) It does not form oxime

b) It does not react with Grignard reagent
¢) It does not form osazones |
d) It does not reduce tollens reagent

CH - ke’ U & ; 7
(CH3)3;C-CH(OH)CH3; w X (upsaw eflenenOummsit). X- sT6TUS

3) (CHj3)3C CH=CH, &) (CH3),C=C(CH3)2

@) CH,=C(CH3)CH,CH,CHj ) CH,=C(CH3)CH,-CH>-CH3
(CH3);C-CH(OH)CH; 255G ¥ ( Major product). X is

a) (CH3)3C CH=CH, b) (CH3),C=C(CH3)2

¢) CH,=C(CH3)CH,CH,CHj; d) CH,=C(CH3)CH,-CH,-CH3

X . . . '
log = hmith log p &@ @emLullsorer yegor_60l& LTI S6UTSH60 FuQarius GCam igsr gmuea]
Lhmid y &S0 Qeu GubysTaflse penmGu
1
) .k o) log—, @) <, logk ) log —, logk
n n n n

For Freundlich isotherm a graph of log * is plotted against log p. The slope of the line
: m

and its y — axis intercept respectively corresponds to

a) l,k b) log—l—,k c) l,logk d) log l, logk
n n h n
FrIL6IT 6B IfleuTeaT &) @amgwwid LOMMID FFST petreuflemevuiled slsmeoTLIC (B 3—
siTGL 6T sompLifled 2 [HEUT@GLD eSlemeTriLTaTS)
&) GamiL somL_ifle) (GMISEL
) srasmLeiT—GlLeTLostT aflsmenr

@) epeVSEn mIGeT L]
@Lﬁl(ﬁsurrr—.‘z—@m,égélsi)@u
3) ureor”—&lLosTaflemesT
@) smb@uié eflsne

Two molecules of propannitrile in the presence of Na/Ether to form 3-imino-2-

methylpentanenitrile. This reaction is known as
a) Baltz-schiemann reaction b) Thorpe nitrile condensation
c) Gomberg reaction d) Schotten - Baumann reaction

SYTECSHT Cumflé jblevomeergl 373K QeuliLiblsmsoudled Eifse ollmarsE 2 1 LH\USTED
o (HEUTELD (PSS eflsmam@LIT e GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377
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iii) souGrmurevumfs QjLilevid . »
: icity of following oxy acids
Write the structure and basicity o ! . ooid
1) hypo phosphoric acid ii) ortho phosphor1
1ii) pyro phosphoric acid ' ,
s . K,
26. oThEaTMLE @IS TETHTE sTeTer ? BT ANleETea ST LWITED
What is lanthanoide contraction? Mention its consequences. |
a3 . : wenLuiled auflenauBlse)
27. Setreumih oymemroys Cofurissmer 2 Ls6u] jsmevbermieflesr gLl
SSDETEAT SIS 5165,
. -+
[INI(NO2)*,  [Ni(NHy)sJ**,  [Ni(H,0) ]’
ion i isible region
What will be the correct order for the wave lengths of absorption in the visible reg
and explain for the following

[NI(NO2)6J*",  [Ni(NH;,)]?*, [Ni(H,0) ¢**

28. ouwefls Gariomigaflsar QTalllSID  sTetTmMY m&mT? Q{L‘Ub'ﬂﬂé: (‘.?afrrwra{aasrgm Ulp 8
6lp e2emLOLIL Ay g51h U TilS5 S S E1h BlevL_ullsureer QML FsmL Q{LLGUEB)GHU'FUU@',Q'JQJ g
What is radius ratio in lonic solid? Tabulate the relation between radius ratio and
Structural arrangement in ionic solids.

29. @y susmire ~ S L enamL rensir sy,
Write note on standard hydrogen electrode (SHE).
30. 107Mm e Gy Carmfls blvgdlsit pH &emuré$([His.
Calculate the pH of 107M HCIL.
31. @My susnie, 1) Cuetflip &1” semres Gargeme. 11) BOUGSH6 aflsmeor
Write short note on 1) Benedict’s solution test i1) Knoevenagal reaction
32 Lﬂsirmgsumm;b;ﬁlrj]@ STTEOTLD & 185,
1) oyeofleSssr LU 6b lymin” sflsmerrésg; 2 L uRleuglsosmey
i1) eréBleuiflsir £ifleh ssamiyigh DLETTED yeuflaSstr SEDTILITE).
1)) 9 Blsememail S| soreseir oy &I &G 6aT6mLD 2_6OL_LLIG).
Account the following
1) Aniline does not undergo Friedal - crafts reaction

1i) Ethylamine is soluble in water whereas aniline is not
1ii) Amines are more basic than amides

3. &ifluéCaion (A) -C:H;0, Qefliy SEMEUULL lo 111, umsﬁru@eﬁmgj. @ustTL_redr
emyeflClemsam® (A) s 2 SANCarhmia QEU'JIUL.DGLJI'I'QJ

STumSatlsr seusmeusmi Qg S&Emg. A,B WOMID C sou) gen . .
oflmerremiyy TS RLD. SOTL 1551 CSm_jyemLw

An organic compound (A) - C3H;0; uged as a sweetening agent, which on oxidation

with Fenton’s Teagent gives a mixture of
_ C0mpounds B an( enti ite
Possible reactions GREEN GARDEN MATRIC. HR. SEC. sa—%clﬁi ntify A, B & C. Wri

Perundurai R.S.
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ugd — IV/Part—1v

BDSHSBTFHID sﬁmR@é@ oL e aa 5x5=125
Answer the fOllowing questions. &yLb:
4. 1) Na,[Nj . S B i e
B <) i) e zg\h(ED:I‘A)] “‘Tﬂ? IjsnemreyFGaigHsr TUPAC —Quwsnr stipsis
oLnGretr syl L) A @iy susrs.
(1060 g)
2 1) QoL flovns saflomisst semLma wrae ? EenLiflemas SEfmISST LTS

@\reg sneer GMIINNG.
i) Rssma gmisnuu@ssgnn peomuflenser eflaul.
a) i) Write the IUPAC Name for the compound Na,[Ni(EDTA)]
i1) Write note on the structure of diborane
(OR)

| i 1 isti Siti sments?
b) i) at are transition elements? write two characteristics of the transition cleme

ii) Describe the method for refining of Nickel

35. &) i) whm GanGrgsramer sm i Ueshflsr o sfleneurdimeT GQlasmetTLGi 76T ?
ii) @ememriiy LomHiLLd eTETMTED sTemTenT ? 2 _gmyemid Qe 96T & (&H -
(Ds0505)
b)i) A — efsmerQUIGLEET 6T PSOAIME SensmrdsTar QsTmsUBSSIuIL Gas
afSufemenr umeilss.

i) & Slemeorufletr eflemsor Goussid ohmith Gsus Lomledlmu CaumuB SIS

a) i) Why fluorine is more reactive than. othf:r halogenls‘?
ii) What is linkage isomerig;{l‘; Explain with example.

b) i) Derive integrated rate faw for the first order reaction A — products.

ii) Differentiate rate of reaction and rate constant of the reaction.

36. a) 1) NemeorCeusLompilufstr ClLTSIemT LITOTLS6IT WITsme ?
i) NQ@ursmsflwedr @udaGSeT (pSSLSFIRULD WIS ?
(Sisv003)
i sroaumel ET&Se sfluflemeot &1 S|BNSTET (‘Sasrrsms.usmlu QeSS
1)) gmmg@mmw @\_emL STEOTMITEV §T6OTGUT ? 2 ST ET0TLD Qar.
ii

. 0
) 1) What are the general characteristics of catalyst’
a) 1

i vement?
ii) What is the significance of Brownian mo

(or)

b) i) State and derive Ostwald dilution law.

1 . <7 Give example.
Y What are conjugate acid — base pairs! Gi
it) a GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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37. &) fm @Oy s

i) 1fiof LetnstT elsmenr i) éaflemmedlsor FikEée eSlsment
(b))
i) GuiienL (G KNemewriiy — Hlml GOILIL] UEDTE. .
“ i) oufEsdaaflsr  Qewdu@n  efighd  LHYID Lwstraemeuma TSI, Sjflay
E&S861568 2 STTauId &(15s.
a) Write short notes on
1) Riemer-Tiemann reaction ii) dehydration of glycerol

(OR)
c) i) Write a short note on peptide bond

ii) Write the mode of action and uses of antacids. Give an example.

38. &) ) smrewd sms. L sweu el ICI I|Ha efleneur Hlmear 2_eHL WG] o *
i) My i M; sy @i o Gansrisafisn gO&s Barmmussisd gopbu |
E°, opy =23V uwimib E° =0.2V. @eme Gremeaitd 615 @6THI G\GOS e
UL OdsT g1 uansnE Hnbss ? Qer@ssiu@erergl E°, .. . =-0.44V
(Dsve0g) , R
&) CGH/NO st6irp epevdsnmy euminm@soLw  (A)  siflwéGaiohd Br, wmmih KOH o ey
oflsmei’ () (B) evw Qar@R&HMG. B- wreng) smjsusifar eflsnerse@ 2 L uGSns. (B)
LGS ) &860 aflemenT (g, 2 Ul (® © 6MILI QErh&Sng), 3
C-gyearg ummlGirergi sr Gemeniy slmarée 2 Lu'@ (D) Qer@sHng. ABC
Lommid D emww sevor_plig) eflsnerasmar TGS

My* M,

a) 1) Give reasons : ICI is more reactive than L.

ii) Reduction potential of two metals M, and M, are E° wrn = =23 Vand
ol 1
E°Mz;,_+ _— 0.2V. Predict which one is better for coating the surface of iron. Given :
E° =-0.44V

Fe** Fe
| (OR)
¢) An organic compound (A) - C;H;NO On treatment with Br
which gives carbylamine test. (B) upon diazotization to
p.cresol to give compound(D) . Identify A,B, C and D with

2 and KOH gives an amine (B),
give(C). (C) on coupling with
necessary reaction.
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W e sony 4
Neomghmrety 1V / Model question paper 1V

5 @yedn_
Mb eyemi® / Migher Secondary Second Year
_ Counguwisd - Chemistry
SUBED b gdp / English & Tamil Version)

Bwsdpilen

greolD OR35S AU me + 3,00 wesd HGuesiset : 70
fime Allowed : 15 minutes + 3,00 s Qmm;al:iﬂ;i?hrks: 70
Y M EHET '
HPODFHe 3 1, Oemanhal - eflamdm@nd  afurst uplams) o eiengn  seLHoe & ALnir SIS
Quunstienab, o atnglalsd  @epulninds  osnpd semsreiuuTeTi-O
o Leguinngy Quflaldmapb,
20 euth (OISO (BN EDLOUT 6B GG TEBINHHED
SHIPHCHURGUBHBIID  LnsduGhs  ConamiBLo. LLRGST  euenjeusH& GRIsEE100

LG hhab,

lnstructions @ 1. Check the question paper for fairness of printing. 1f there is any lack of faimess,

!\)

inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pencil to draw diagramms.
Gy : Chevamuned R HEIed LD s HEHl FLoILTHHEMST TIRHAD.
Note : Draw diagrams and write equations wherever necessary
15x1=15

ugs — 1/ Part-1

GUNLY 1. SinsihEl eNevTdHsEHHED eNeni_wisfldHHaD
QerEHBUILL L BHra@ el salsd Wsad goLsmLL elenLen
GPu e ellswLufenand GoiidhE 1UpSHIS.
Note : 1. Answer all the questions
Choose the most suitable answer fr
option code and the corresponding answer
QaulILBlameoLILHSHEELOUTEN silwnen afleng asi?

<) HF>HCI>HBr>Hl

%) HI>HCI>HF>HBr

5 CaIEosEHD!

19

om the given four alternatives and write the

19

ENQUBLT EREB BamemeB&H6T6l
o) HI>HBr>HCI>HF
) HCI>HF>HBr>HI
¢ of thermal stability of hydrogen halides is
b) HF>HCI>HBr>HI
d) HI>HCI>HF>HBr
qF GaTDHHE Ni-6it  Sienemey 616w

The correct orde
a) HI>HBr>HCI>HF

c) HCl>HF>HBr>HI
[Ni (C20s)s]" - 16l DI

) 3 o) 6 Q) 4 ) " 2
Co-ordination number of Ni in [Ni (C204)3]" - 18
a)3 b) 6 c) 4 d) 2
oy ; oo gfwren TUPAC — @Quuit
H,C-CH-CH-CH-CHy-OH - ait? Bsoen ofun

Cl CHs

- 60 QLIGTL 6= 1~V
) 4-@(Bs11n(3urr-2,3-5°7l—@w§5§96“ @”@“ ) < ~ GREEN GARDEN MATRIC. HR. SEC.
1) 23-smt_®wg';ﬂeb-4-@(3mn(3uﬂ QueiiL6ii-1-&4Y  sCHOOL
S s 0 y-d T W L L6Hi-1-60 ‘ Perundurai R.S.
@) :2,3,4-1.66)055‘1%&9f")"'@’9(357"‘(?’U U PH: 0486379461, 8344933377

) 4-@(Ssﬂrr(3urr-2,3,4-1;6mg®w§)g)‘16b QLGHTL601-1- QL0

120
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The correct IUPAC name of the compound ,
CH;
H,C-CH-CH-CH-CH,-OH -
Cl CH;, -0l
i 5 entan
a) 4-Chloro-2,3-di methylpentan-1-ol b) 2,3-di methyl-4-chlorop
¢) 2,3,4- tri methyl-4-chlorobutan-1-01 .
LAl ] . . . 48d£] 02
.2H;0; ——» 2H,0+0; aep alleneuisd @m @GUILILL @mugﬂ?\), ﬂﬁ:ﬁ‘g’i%mﬂsb)
o mandpg aaflsd s CrrHHsd B o wameh Gausn (Bwred

S) 1 ) 2 @) 3 A f d per
is forme

During the decomposition of H,0, (2H,02 —— 2H,0 + OZ)‘_48.g of O"j 15 ol min'll) s

Minute at particular instant. The rate of formation of water at this instant in mo

a) 1 b) 2 c)3 d) 4

5. SunpBL wrmeldsmen 6UEMIT ULIEDBUIT UG
D) @ TVHBL_FTest QUBEGLD LWeTsHemLD
) 6.22X10" srevdL grensmet CUIBEESD HML
Q) 9 Gursd Gsngms UQWIFCFLIW CHeneuwimear LO6FH6NLD
F) @@ Gmed erevdL Fresiamsit CuBMmEE WeTgemLD
Faradays Constant is defined as
a) Charge carried by one electron

b) Charge carried by 6.22x10"° electrons
¢) Charge required to deposit one mole of substance

d) Charge carried by one mole of electrons.
6. Na' swef wpgw CI° Olweiseier owell sygrisst (pepGW 95 pm wBmid 181pm,

steflsd Na* suuefufeir SIENEWIEY 616501

d) 4-chloro-2,3,4-tri methyl pentan-l-ol

) 4 ) 6 @) 8 ") 3
The radius of Na” ion is 95pm and CI” jon 18] pm. The co-ordination number of Na* is
a) 4 b) 6 | c) 8 d) 3
7. QpusTiTusmeTsd OsTEUIBEG 2 LuGh Csiwb
CH;
o) CgHsCHO @) CH3-(-NO,
CH;
&) C¢HsCH,NO, ) @eme oismensgib
Nef carbonyl synthesis given by
CH;
a) CgHsCHO b) CH;-C-NO,
CH;
c) C6H5CH2N02 d) All of these
8. Weireugmid 61bs el esr 2 UL Oeuewienio _rb‘lm@am_m@?
2+
@) Cd o) Cu?t @) Co’t 7 v
Which of the following ions of salt is white in coloyr?
2) Cd* b) Cu®* ¢) Co** d) v
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"

10.

1k

12.

13.

14.

LI6316) (h UG 6311 Q!

rB[]j]G\) 6T&h| :

. i 61 i,

9N alitdfledg, FvemLG ﬂj"@ﬁma,mmumm_m dn|PIo1p?

) oG .
B0 @ Bonm gy ) Quitflds meupigirdioma G

Which one of the foiificios ) ity amumunel
. ’lS a1 » e .
a) arsenic sulphide 8 1s negatively charged collojd?
c) Haemoglobip b) Ferric hydroxide
SalbE _ d) Basic dyes
- P U O oned i e il
BNJLD : Ly Al . DheTOLIT6or @yl 16060 iyl ey endfl it
) IT DIICLoM60 1oBEd  ayeroiTifles ; : ot i 6
SLBLBSSILL i - &) 6 auANutsmen 6OIDWI HIIDL| 1068 _6056my DG
o) ou DI 10671 Gawisbupenmulled »_euoritelpdsmnds Qe 1o,
[-Bml LD' L'D . . . 4 , .
&) o LDH_JEU'_ ‘BWUWU_) QoG #f @mrgewid gnbupihamrer sfunre oNsTIdGDHIIDID.
&) 5 DO SHERILD Qe ofl Sngewid gammibanen gfunmer e6NGHEIL60M
FaB &Ml ouemed sryewid geuy)
F) Ml LOM@ID &STy6uwILD 6B GHeu).
Assertion : e '
e rtion : Paracetamol and aspirin arc both antipyretics.
son , s i . p
: Both paracetamol and aspirin are controlled and reversible loss of concionsncss by

affecting central nervous system

a) Both i 5 ' ' '
b; A assertl'on and reason are true and Reason is correct explanation for Asscrtion
ot a‘sselttlon and reason are true and Reason is not correct explanation for Assertion
¢) Assertion is tue but reason is false.
d) Both Assertion and Reason are false.

Osulin @uissellwsiy SiFs Beneol seatemw Qe orirueie LpGammIsnL sUIEULD
) BIGEIT (GHPTUIHsT

D]) eMEUJLD 1) ..ysveofeiiaseir @) ..&Agrenul
Thermodymanically the most stable allotropic form of carbon is
a) Diamond b) Fullerenes c¢) graphite d) Nano tubes

BB CBETHHSUL L DEUBEDST 6hs Qeim PBEETE Firdmeny?
o) GHEnsH6asTerd o) &&HBrmerd @) 1oreLBLmerd
Which one given below is a non reducing sugar?

) 6umaGLITery

a) glucose b) sucrose ¢) maltose d) lactose
1961 eupeuaTEUDNlsL 61 giwrs QUIHHSHENEVEN6V.
. AgNO; + NH,OH

o)) Lmevsit &6

&) GusLedim SHEMF6D
@) Ouefligd SHMIFEV
) Guufledr &I 65011
Which one of the following is inco
AgN03 + NH4OH

CuSO, + Rochelle salt

CuSO, + Sodium citrate + NaOH

Con HCI+ anhydrous ZnCl
(pemmulied oL &s0UGH DS el gHeNevdh Hn s

(pemmuiled oILIGsHIuGSDH?
T eouenyL ) sroGLIBVEM] L

CuSO4 + Grrlgsv@eo 21|
CuSOy + Bgmgunp HLCIL + NaOH

oLt HCl + pyom ZnCl;

rrectly matched?
a) Tollen’s Reagent -
b) Fehlings solution
c) Benedict’s solution
d) Baeyer’s Reagent
FeoemLIB STHIHEENT  [BIED] s
5 geomub SO Gou b (YH6V
@) emuu

-

QUITHIUTES
SesieupLd 61b
o) oifGgaOLL &) SO
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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15.

16.

17.

18.

19.

20.

21.

22.

23,

24.

' ath sess. Which one of
Sulphide ores of metals are usually concentrated by froath floatation process Wh 1€ 0f the r

' 1t ical leaching.
following sulphide ore offers an exception and is concentrated by chemical 1' g
c¢) Copper pyrites  d) Sphalerite

a) Argentite b) galena ]

Ag,(C10,) eisim Gsiosdan meydmsh OUGGSSABED (Ksp) Guomeon B0 HDEDIGHE LD

(S) @eoLBCuiwiresy QrLity

o) Ksp=S <) Ksp=S? @) Ksp=4S® ) KSl”=3Sz

The relationship between the solubility product (Ksp) and molar solubility (S) for Agz (CrOy)

is......

a) Ksp=S3 b) Ksp=S* c¢) Ksp=4S? d) KSP’_‘?’SZ 7
6x2=ufi

ugg — II/Part-11
ICo@u> U elemEssEnsm alomLweibs.  olam o 24 &@ SLLTWILTS

sllenL_wefésayb,
Answer any six questions. Question No. 24 is compulsory.
LTeroLTemsTy GUTY empLgege Gusii CamensoBsemsn 2_(HaUTHGHUHE0en60  6]6017

Nitrogen does not form any penta halides like phosphorus. why?
BwLplnsog; seflonisst wrmLED &AMy PHemsvenw QuBNlGLILGHs?

Why transition elements shows variable Oxidation state?
[Co(NH3)sC1]SO4  wommub [CoCNH;3)sS04]Cl-gg  GauguBsHwmud  @m;  Bsngemarsmnu

TIDGEI.
Give one test to differentiate [Co(NH3)sCl1]SO4 and [Co(NH3)sSO4]Cl

CUTH Siweh elensrey 6TEUIBTEL 6T6he? @(h 2_GHyewid Q&TH
What is common ion effect? Give an example

BEWI_  BT0SHABE ST Fe0GUL enL Aowys sevellsd CrllHs  mass @uwiguion?
OETBHBLILLL &)

E° =0.34V wmynb E° .. . =-044V

cu™/c,
Is it possible to store copper sulphate in an iron vessel for a long time?

Given £° ... =0.34Vand E°_, = =-044V

yeedu cuna eflsneuisi SIEDIAUTIDE)] BTVHMB HabE B
Calculate the half-life period of zero order reaction.

oL 615H0 FSHflel Liweiiesr Breialene a1,

Give four uses of diethyl ether.

oivelaflen Gl LT swel (@mupsnen SlWell) Siewlienu & me.
Write the Zwitter ion structure of alanine,

266y LSHeo GIUT(BLS6iT 6T6ieney WTensy?

What are food preservatives?
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30.

a1,

32,

34.

A8mepib ey mﬂmnuhu‘»md J ‘“@Jﬂ'ﬂ =/ Part-ny B =ID
aflentwieldeneb, OGSl wieoldm,  oflon ser 33 de Lo

Answer any

SIX questd
stions, W
RULTRTTN AT Question No. 33 is compulsory.

(i) ODIWLEY (1Y a0l i

- uful,um? (0 woginNsdeon WolDOSIGD Iy 60.

-)ﬂl he the following torms

i AN (1) vl gl

(D) Roasting (i) Culeination

lrﬂ“'”. i WHIT i g :

\n‘tam Bt Qineyduod powpiemil Lippfl - NIty euenya.

Vrite a note on Fisher Tropsch synthesis

R NCRL ,

l']‘f(“.'())oln -!lﬁllll (jl)ut))l..lllu)ll\'_’_zl,nolnhi) |Sc(H,0)] -Hmopmg elend@s.

[Ti(20)e]™" -is coloured while [Se(1,0)6]*" is colourless. Explain

SLIIIBED @B o6 m,

Explain Frenkel defeet,

GnmedtbGrunt o 101 Qe OIBhE, slspTed o667

What do you mean by Helmbholtz clectrical double layer?

Qﬁ]ﬁmml GonmdrgNomenr  gSittoned@tb Lig GTGOILIZHENGI  ©__ FHIT 6101 HGHIL 60T oGS,

Explain the rate determining step with an example,

2-GUD 60N 651-2-a),60  eteueunml @fNdbenii@  sryeiluled bl swimfiumi?

How will you prepare 2-methyl hexan-2-o1 form grignard reagent?

@I euedga: 1L allene.

Write note on Etard reaction.

CNCIl  ergonp  sumuaun(Gemnt-ul oidCaio  (A)  GuiHdsd  Glodaldlub HGUHGO)LDGL.GDT

sleneiNpg Gainop B — (C2HaN) @b sosingl. B-asorsl efemenGouss Lf)ﬁg}@mnfﬂ 2?65&

weLipgs Goiod C — (C2lhN) @b podpg C-ommoudss almase ELfLbemEL

sl Gainotd A, B wppid C-owid mediLiibe! mﬂﬁmﬁmmmm- S id . mpound
~ 1 g

An Organic compound (A) - CNCI react with methyl magnesium Bromide tq give CC,; lpmine

B — (C2H3N). B-upon catalytic reduction to give compound C — (C2H;N). C gives carbyla

test. Identify compound A, B an
ugd® -1V / Part-1V
S ol mLWIeM & &BaLD:

d C and write the reactions.
5%5=25

BpbsTgRID ellenTdbs

Answer the following questions.

SBHENGILLD éQL&SlgGMH'UJ@éBGU)Gﬂ&|[b UUIG®
(D16060%I)

enan GPIOIGS.

Hey DGO

ol) 6THGHEMUIG

&) i) dmiglesr LIeBIgB6TT @y 6t . . mﬂm“ﬂm'm@m o
ii) @aibL| 1HEID i 2_rimsit B

a) Comparc lanthanoids and Actionoids.

(OR)

a) 1) Mention any two uscs of Zinc |

i) What is the reaction of Ammoni

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
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. : Bahomumsit 4,
5. @) 0) b Deamios  Galipmneir  1oHEnb  HENGVIHI  DIEHETEIS "-ﬂf:rn,m__
61631601 ?
if) Quied igesmyb asieung HUTNGSOILGEMEG!
(DIGVEVI) | s
) 1) @wiinuish Ly weudd), GeugAluuwied Lyl weulidd) GoumiBiHd
i) Qg efeneu@oues ONBRhEIDHE B 2-GIyend Hha
a) 1) What are inert and labile complexes?
ii) How is potash Alum prepared?
(OR)
misorption,
s for enzyme catalysis,

a) 1) Differentiate physisorption and che
i) Give two example .
36. @) i) puno BLSBIBMST  opomb  Gomeorit GLOBIHDEOOT  CUDIUIDIhDH.  DISNEU  6T6M6UNT [
Qi QasmesiBsireren?
i) @redemeid 10smmeomimens 2_ULjiureogfles Lni, eleiien?
(DI6v60g1)
wmremeu?
WG LbN] @iy euemyss.
ance and specific conductance How they are related?
t bridge in Galvanic cell?

(OR)
1) What are the characteristics of Ionic solids?

if) Write note on Lewis concepts of Acids and Bases.
1) STHSHAMTEVMNE  DiLblsn ellenanBsus 1o

9) 1) DILIGAILIG & Mias erf) 651 LIGVHTL e 611
i) gouf DIO6VENT Qasmeir
a) i) Define molar conduct
i) What is the role of sal

b)

H;0" K,Cr,0,
(D1606v))
Q) 1) By Srissi BB & Gemrysnmiy T BRI (61 s @, DL Cuiwire CoumiunBest
Wwireneu?
1) LObESTES  aem  suenyuwy 8% wEhHei HTBISTIY  seitentow e sT6UsUT Y
Glg)m_hqu@g‘,@_]u@eﬁlm@?

a) i) Write the mechanism of acid catalysed dehydration of ethanol to give ethane.

11) What will be the product (X and A) for the following reaction?

CH;3MgBr acidic
Acetyl chloride 5

safety of the drug?
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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38. <9]) i) A,BLD' . L .
HO et BEWIL 1\

i socl,

G I =% A —NH, p LiAlH,

o

ii) SIF_GL s ;
LEMEDD  9enTLEHCIT QurTs " . .
s LS grédl o L) @

ASFCabmid QFWIBTEL 6Testen B pLb? mos oulioh Benm®

i (Si6060g1)

Q) 1) 25°C-6 o

) Cf’“_ =9|.5TT6)5‘60W BireHede0 Glomsonit BLSHHFME HUILHeNsd BmbEH DFL1gdH

DBV G &6t A“CH;;COOH-g;&: HEMHH[BE

Lﬁlﬁ&ru%\?ﬂ NaCl HCl CH3COONa
(S cm? mol™) 126.5 L426.2 91.0
i) &fwsGsAion  C,H,0O (A) — Lueveiterd wimd Oueim smrssd BaFTHMMEE

2 LuGams? GaFTww (A) Qugseamsd wmpw HCle et efemen yfbs Gamon (B)
C4H100: -g SBEDBH. Ggrwb (A) Cupsegi st Bres NaOH  (psiiafiansoudisd
aflwafibg Gsinob (C) — C3H,0, —van Ger@sdng. aafsd Garomsst A, B
oo C-emw semiLnbs efenarsse 1D BHI%.

a) i) Identity A, B and C
HO OH

\/\/\/ SOClzl A NH3 ) B LlAng C

] 1]
0 0

ii) What happens when acetoneoxime on oxidation with triflouroperoxy acetic acid?
(OR)

a) 1) Calculate A® CH;COOH using appropriate molar conductance of the electrolytes

. . " 0
listed below at infinite dilution at 25%¢

Electrolyte NaCl HCI CH;COONa
0
reduces Tollen’s and fehling’s solution. A-react

00,. A-on reaction with Methanal

ii) An Organic Compound (A)-C2H4O
) — C3HO;. Identify Compounds

with methanol and HCl to give compound (B) — C4H(1:
in the presence of dilute NaOH to give compound (

A. B and C with necessary reactions.
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Cusoleney @yewimd gyea® / Hig

SO0 D66 :
Time Allowed :
Sifleyeny o6l :

Instructions :

@My :
Note :

Gty :

Note :

1. Gar@ésiul L efeemulsy [Y] seug

H,S0q4 (1) NaOH 2_m@s6d
CeHsOH —> [X] ' -+ [Y],
110°C (LPHEEMLD (11) H
el eneTEUT(HEIT

OH OH ‘ OH OH
o0 OH
o) @ ) @’ ® @ " @’
SOH H .
In the given equation

OH
a) [ ]
SOH

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.

Model question paper A%
her Secondary Second Year

Gauguwed - Chemistry

ot oo 2 an /English & Tamil Version) | o
15 [ﬂlﬁﬁﬁly:iﬁuf BLODngLI:;mﬂE, g QuTss WHLCLeHST :

Maximum Marks : 3
15 minutes + 3.00 hrs

1. omenhg eNeToeEHD &
QameienayLb. seaiudals  eompuciis  oops &
o_Leanuresd Osfalsbsab. o

2. [BeuLD (SI6060G) SHLILY enLoUTement TGN ﬂ@@lﬁ'ﬂﬁf{?@l?
SgsCEMGuUSDEGL  UWEUGSHS GousiBLD. LS  suenjaIsne Gueiidled
LWTUBSHSHMLD.

1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.

Gomaaunen GLEHHHO ULLD suenihg FELTBSMET 1S,

wrdf elemggrer V/

flurst udsurdl  2_6eNST _as&rug,smsm FAUTTSH 16
emramamnoumenflib

Draw diagrams and write equations wherever necessary

ugs — I/ Part—1 15x1=15}
1. SmaHsH NamebsEhHE@IL allanl weilsbsa)n
2. QaT@sslulL BTG oloLsais Waan giymLw elmLamwsd CaThOsHoHE
GUUWILGLe elenLwilsnend CaTshgl 61(10HISH.
1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

H,SO4 (1) NaOH fusion

110°C  Major Product (i) H

OH OH OH
SOH
b) @’ C) dy @,OH

H

PH: 9486379461, 8344933377
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e
=

ereumd 6l
ENEIBEIMED 6718561
B0 B smiue - Smirust Senssm
4 2 meurselsvenso?

&) UsOLTE £t ) 260, Udlaga

In which Ofthf)gﬁj\;o ”) IfLed ﬂ??JLmﬂS;NG;NGUI

a) Kolbe’s reaction {01 reactions new carbon — carbon bond is not formed?

¢) Aldol condensati b) W‘olf kishner reduction Pl
auon d) Friedel craft reaction

Ueieumld Gairiom D 6T
@ FMORIGETE 61hs qeip euedemw WBEhs STyb?

2 H, H H
2 ]
3) f ﬁ
)
= CH, NH, 2 @Hs g Eél)
ich 0}?6 of the following compound is a strong base?
j? 2 ?f%? NHZ Hz
C)

CH, NH, CH, X (>Oz

Fal . : . y
pm : DNA pevébsafled mlsr @ment, Oigasmer o Lgob englBLndlen Gemet

GHOUTENEINT 2L GDILD BRSBTS
SNJeRID 6007 : . . .
i Breni® &M BenpsEhsHenL G 2 66T snamLgegel  LlenemriiL HIT[J GUOTLDT &
o) SmbBm WLDBID  STEID @remB &Ffl Gl i Bl

TG BT, QLD  &TJ6wILD, Fammih e gfluwimenr
) Gmbm  BEID  STYEID @rewGn  of, oemsd Sy gapriperer  gfwme

6161155 & LD6V6V.
@) ombm &M SyeImed STYEID HEUD.
Mol LoBmILD ST E0ILD @yemiB HeUDI-

)
Assertion : Thymine pairs with Adenine wheareas Cytosine pairs with Guaning in DNA
molecule.

s of two strands is highly specific.

bonding between base
true and reason is the correct explanation of assertion.
planation of assertion.

Reason : The hydrogen

a) Both assertion and reason are

reason are true but reason is not the correct ex

b) Both assertion and
c) Assertion is true and reason is false.

d) Both assertion and reason are false.

SeiraueusTaB ST oibH PO &G LISOLIY
o) PGA &) EPBEVTEN-6 @) PVC %) HDPE
Which one of the following is a bio-degradable polymer?
a) PGA b) Nylon-6 c) PVC d) HDPE
200K-60 @0 el ememuiien RIS wrdeduiles  LFUTES], 400 K-60 g_shm.mﬂgmm(ga%
onfeduis  wgiemu Sl 0 wLBEG ©mpe, e SibS enenulsir  &leniiey  {BDED
e ereen? (R= eumd womfledl) -
) 1842.4R ) 921.2R &) 460.6R 7 277.3R
The rate constant of a reaction at temperature 200K is 10 times less than the rate constant at
400K. What 15 the activation energy of the reaction? (R=gas constant)
a) 18424R by 921.2R c) 460.6R d) 277.3R

g{Lﬁlsuésassmu&@lés@ gilwureng 6817

7 [H:071<[OH]

ﬂsﬁrsu@ausmsn,rbgjsﬁ ; _ ! -
) [H:0']> [OH] o) [H:07<[OH] &) [H;0"] = [OH]



10.

11.

12.

13.

Which of the following is true for acidic solutions? )

a) [H;0]>[OH] b) [H:0"]<[OH] ©) [H:0'] =1
@uiensuisy eurembd Beowrs BEUUSDS By thy

) GmpossEssaan Wapmas &auiFs]

&) U6yenailwes elsnsney

@) eiLNed ellensrsy

OH] d) [H:0']<[OH]

F) UTSULDFFen 6|
The blue colour of the sky in nature is due to
a) Electrophoresis of sol particles

b) Brownian movement
¢) Tyndall effect
d) Deemulsification

o Beoms GMmMUETET GOBUTE STERUUGLD LIgsHLD .
1) NaCl <) KCl @) ZnO 7) FeO

The crystal with a metal deficiency defect is

a) NaCl b) KCI ¢) ZnO d) FeO

LedTeu(meustTeuBmIeh 61d! SHlenent LO6iSBe0LD

o)) GeuseurehBs  Lol6iTas 506

=) eHHwD - Swedl 10eBFOIIL|SH&HeV6

@) ursrs ulLen LOTGFOLILHSHE6T

7 (21) wbpw (@) RrewiGo &l

Which of the following is Secondary Cell?

a) Laclanche cell b) Lithium ion battery

¢) Mercury button cell d) both (a) and (c)

BIeTE OIB55055 SoLBmes sSaiwrsais (Cr, Mn, Fe & Co) +2 <us6fgBams

- Beneouleir BHlemeoliys seend auflens [oigmierenr: Cr (24), Mn (25), Fe(26) wimid Co (27)]

9)) Fe>Mn>Co>Cr &) Co>Mn>Fe>Cr
@) Cr>Mn>Co>Fe ) Mn>Fe>Cr>Co

For the four successive transition elements (Cr,Mn, Fe & Co) the stability of +2 oxidation state
will be there in which of the following order?

a) Fe>Mn>Co>Cr b) Co>Mn>Fe>Cr c¢) Cr>Mn>Co>Fe d) Mn>Fe>Cr>Co
LeTauHeusmsUDMIST 6151 UMIT &SMhSHS SHeeno Gubmpieitseng?

o) [Zn (NHz)]™ =) [CONHa)el™ @) [Ni (H:0)]**  m) [Ni (CN)aJ>
Which of the following paramagnetic in nature?

a) [Zn (NH3),]*" b) [CO(NHp)el™ ¢ [Ni H0)s]®* ) [Ni(CN)*

deeumd> HaBO3 upmiiw sapmisetlsy seumreng 61517

3) B85 e aslmw WG WPEETIHEHIN DD

<) Bg Burgréeds pissmIsme fOLLGSE SwNssiLGEngs

a) @a 303 %{&)@&Bsﬁ DAL FEREH Henenriiflenmsd ememesasrii § SBEHG
Simwolienus GlaTemGenengl.

#) @& UBITiLTeneT QIPRIGSDEG UHTS el gy - 0.t .
arul oufswns CFLSLESDE!. Swellow  ghpes Csneib



15,

16.

L7

18.

19.

20.

a1,

22,

’ 1 ]' 1 1
\fx Im..h ol the following atatement abou HABOY dinot corroet!?
o) 10w oo strong ibaale aeid

). h § ! Vi
b) 1 {8 propurod by neidifying an aqueons solutlon of borax,

o l || ) L1 Nt ;
(l)) lll v: uhlnyun sleveture i whieh planer BOy units are Jolned by hydrogen bonds,
does not netas proton donor but aets as n Lowlh acld by necepting hydroxyl 1on,

Iladengnanameanbanet Gapab onfanh ol

)y 804 o) 1y Sy Oy @ 1,808 w1180,
Which ol the following is caro’s acld?
)y §;04 ) Hy SOy ¢) 112504 ) TS0y

wiremowindignmanay  @NIAGM  aflaneantmoonhi - offhin (pemm'?
T (rdsmowipm) 21, SS0K Til, melgb'l‘i (i) - 21,

O L@ ) a6 onhpflaifliig
@) e - @ liEnsdpen ) romain” (pamy

Which method of purification reprosented by the equation?
Ti (impure) -+ 21, 550K Til, 18001 T (Pure) 1 21y

a) Cupellation b) Zone relining
¢) Van — Arkel method d) Mond’s process.
u@a) — 1/ Part =11 6x2=12

g8E@Ib «m elerbaepdo ol waibs, e 61w 24 5@ SILMLIOTS
aflenLWwefldsa|ib,

Answer any six questions. Question No. 24 is compulsory.

eI Fopflened sIlMIed  eredionl !

What is water gas equilibrium?

@8ansit (O3) @@ &UESIENIDULIIGN andNep@auiinb g aflumd 667

Ozone (03) act as a powerlul oxidizing agent why?

Desisupld eNEHEISHEmaN Lidh G,

iy 2MnO; +4KOH+OQ;  —>

ii) Cr, O + 14H"+61" —>

Complete the following reactions.

i) 2MnO; +4KOH+0, —*

ii) Crp O7% + 140"+ 61" —>

mifler SIWRNNIGLIHEEID  eIen] LI

Define ionic product of waler.

AMLIERET  FEUEmLI[B ANl ailirald  QLAHMaEH )Y ol Gorgaighgnb@Ling
graiien [HeBp? Geugh (pempiila Quufenar @pICn G,

What happens when hydrogen sulphide gas is passed through a solution ol arsenic oxide?
Name the chemical method.

Ly gieBeTTl6H @uicoLfphmed LHpsl @I eIen]b.

Write a note on denaturation of proteins.  SnEEN GARDEN MATRIC. HR. SEC. SCHOOL

QL MeSe sraueumpl SnfdsriGalpg? Perundurai R.S.
How is terylene prepared? PH: 9486379461, 8344933377
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23.

24,

25.

26.

27.

28.

29

30.

(1) C¢Hs-0O-CH,-CH-CH;

Ueiisumd Gainonisense IUPAC QUILTESST 6(0SIS.

(11) CHz =CH—CH2-CH20H
e H3

(111). BB QuesitenLed eysvmamred (iv) efemsd

Write the TUPAC name of the following compounds.

(1) C¢Hs-0O-CH,-CH-CH, (ii) CH, =CH-CH,-CH;OH
H;
(iii) Neopentyl alcohol (iv) Glycerol

M/36 GefleymLws sl Gopbs ensmssm owssmIsals FoTmsLSEbSmH |
wHIY 6 Bor OF.15 Fuworemp wB@ID  Seneleveor BTHHmIebE 400 Guor.osFs’ gwmeb &

AGL. QBS SWlvsdBe Ume wimMsl wdlmu samEd@s.
The eq'uival_ent Fonductance of M/36 solution of a Weak monobasic acid is 6 mho cm? equiv"
and at infinite dilution is 400mho cm? equiv’'  Calculate the dissociation constant of this acid.

ugd — III/Part— Il _ 6x3=18
ICERD Ym eleTEEEEG eloLwmes. am e 33 S5@ LIS
eflenLwefissain.

Answer any six questions. Question No. 33 is compulsory.

GuTBIL Swesflenw asisuTm SHILBlOUTU? DiFsd 2 _6ilen elleneisenen 61(DSHIS.

How will you identify borate radical? Write the reactions involved.

QevLPlensod seflomissit wWHmID euBhlsr Gamorimsir allenensdsenms  CFusoLGEsmst
geor?

Why do transition elements and its compounds act as catalyst?

O.IM HF smyesd suallenv @emp onflsoid ayemmso SM, HF Mgy suedlemw g ofad
ey6a1?

O.1M Solution of HF is weak acid. But SM solution of HF is stronger acid. Why?

wasuysmww  saeggw  (FCC)  oemwlemu  ausnpbs),
SITNIHHEMGT  CTERTENTHMNBEN  &H6mTdHaH.

Sketch Face Centred cubic unit cell (FCC) and calculate the number of atoms present in it.
2 WiTHgHesi BEID emaGasnbn hFs eemred seer?
What are promoters and catalytic poison?

SIS ESL 160  STemILGLD

A —> B esip Ourgieuren eloaisd A-61 QFhesEn CrI&EABGL  @en Guiwmst |

auenJULLD &6l QBEMBEBUUL BTG MMIULSMS QUL ILTES & mest

Uleireugpld
D eTHSBEHGBE allemLULI6TT. = ®

(i11) ellenenGeus TReluler Die0E etaiten?

[A]T (i) elenenlen elenamsuens ereie?
\ (i) ouemenBasriigsh &miley sreien?
t—>

[A

For the general reaction A — B. Plot of concentration of A Vs time is

_ - given in the graph
below. Answer the following questions on the basis of this graph.

(111) What is the unit of rate constant?
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377

] T (i) What is the order of the reaction?
\ (1) What is the slope of the curve?
t—

—
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3l.

32,

33.

34,

35.

36.

CH3NO;  eumiium’igr ; S
CoupILBHSIeuTU1? ghE GrenE  orpPuksst o eiemer.  @eelyaimLILD STEAUT

?.ler:mar? tW(-J 1S(.)mers “ilth the formula CH;NO, How will you distinguish between them?

HHesd wHoD Uamsbsmen CupLBHE ofiuyd CsTHaEdT wreney?

What are the tests to differentiate ethanol and phenols?

g;) STEID sfos  Gsmod  (C3HsBr) g oo S p ien Mg 2L
mm'ﬁl"@@@m@“"@ Geirod (B) HenL&HBMS). @iGsmngmsd COz o L 6 olememBHSH

SWLLEHHIDBUTE Gsion (C) BwLéELDD) sraflso (A), (B) Lmmid (C) m& S BHSI

NeneEHeNeT 6T(SHIB.

An organic Compound C3HsBr (A) on ireatment with Mg in dry ethe

treatment with CO, followed by acidification gives (C)- Identify (A),

possible equations.

r gives (B) which on
B) & (©) and write

ug® -1V / Part-IV 5%5=25

Lpsorggld leMmbsEhSES eflenLwefl&aEaLD:
Answer the following questions.
a) 1) &TOLT enUMTLIgel®he! STLLD]T INEH05B5ED (OB eNenHG
ii) feveueny LAGTMHLIGSSD (empuied SHTUEDLWTHSED eflsufl.
_ (SI16060G))
b) .1) Sub." 1IBUTELBET SepTeD eT6den? 2 _SIYeID AL (CH
i) Uereumlb GRS crGleUaIENS Bemea&60UL BenL GuEIADSI?
o) BrFs <) IF7
a) i) Explain extraction of copper from copper pyrites.

ii) Explain electrolytic refining of silver.
(OR)

a) i) What are amphiboles? Give example.
ii) What type of hybridization occurs in the following compounds

a) BrFs b) IF7
a) 1) Cr’  esusiiemLowimen PCELA00
o sitengl 67 alleNSH .

ii) HepeolIHHETENLD Lomfiev]  6f

Te  o_enenGuTdl Mn®" suedemiowien a6FGapplwnres

gl W7 AH (PEHAWUSHTINSMS  6T(DSHIEH-
(DI6L60E!)

Wler  SIDeUTPESTEVLD QEIWD.  (PSHEVIND alenanuisd  SIEHJEUTLD

b i) g® oloT
efle  HIUBBE Qenileneull  QUTHSSH! IO FHELENEV

HTEOLOTEIN D] eleme®  OUTG
aeLmSH BTLHS.
ii) o_tnflew BITBLEGSSE L 5 Sifleven eTeHTeu 7
a) i) Explain why cr' is strongly reducing while Mn>" is strongly oxidizing?

ii) What is stability constant? Mention its significance.
(OR)

b) i) Define half life period of reaction. Show that for a first order reaction half life period is

independent of initial concentration.
ii) What do you mean by salt hydrolysis?
a) i) ILL enEYDL T 360 LOGBT(Lp EmET (SHE) umm @Oy DI,
ii) a@eis BLHBHISHDET senalpsedsd  DC HenGam LsSnE udeons  AC
HenGemmLLLD LIWTLESSLIUGS DS geir?
(SI6060H)



b) i) Weipenand @eurdd LHE GEIL DY,
i) QurPeyh@mest eT6DITED 6T656N 7
a) i) Write a note on standard hydrogen electrode (SHE)?
if) Why is AC current used instcad of DC in measuring the electrolytic conductance?
(OR)
a) i) Write a note on electrophoresis.

i) What is packing efficiency?
37. a) i) Yshmseler (pHFHmey, SIEHILTDBENed BEID  APSIBTDHMNED DI UBs

sllend: @& ®. .
i) deeumd wrhph aseury BepssiuGang? Candad -4- Feamplfso— Gamss -
4- meueb.
(21606051) :
b) i) Gemiysst bED QL TCme GEellsr oisE BHGL OFusLT s anfupasmw |
o6& .

i) Uelieumid ombphiset seiany HaepssiuGangs?
X) Quendsit —p SIALCL. LICemmei
(Y) Queiigneoan® — evamt Gym Quetgenip®
a) 1) Explain primary, secondary and tertiary structure of proteins.
ii) How is the following conversion affected?
hex — 4 — enitrile—» hex — 4 — enal
(OR)
a) i) Explain the mechanism of cleaning action of soaps and detergents.
ii) How are the following conversions effected?
(X) Benzene—» acetophenone
(Y) Benzaldehyde —» hydrobenzamide.
38.2) i) HCN-sr Ka wgiy 107 asflsh 0.4M HCN ssjsedsn pH &y sisien?
. (@16v608))
b) 1) @[@ﬂﬂ@wl'_lg&':. @)H)L(Bﬂﬂ: Geimod  (A) Sn/HCl o e YbsswLBH Bginow  (B)
C6H7N 25 @5”66'55]&]55]. Gerob  (B)  Gueiigmuiso GCemmenyBLer 1My
Wenailemsouled  allmeriuGshs Gsiow (C) e OaBsdng. Geiow (B) SN

CI—hBr o _Lai .slﬂsow_tsmUuG},é_'ngl, Gairow (D) g-wd, oiBemans OaTLimbg NaNO,/HCl
2 Leil  elaluBss T HmpenLw slemienmil  Gumeiis Syeu(psnL L

. . 2 M6 GFmwrIsemensd
SWIL_DIb@ alenaIHmen s1(pHis,

a) i) The Ka value of HCN is 10”. What is the pH of 0.4M HCN solution?

(OR)
b) An aromatic nitro compound (A) on reduction with Sn/H
which on treatment with Benzoyl chloride in the presence of idine to gj
Compound (B) on treatment with CHBr to give compo pyt 0 give compound (C)

und (D) which further reacts with
NaNO,/HCI to give compound (E) with yellow oil liquid. 14 ti :
reactions. q entify (A) to (E) and write the

Cl gives compound (B) C¢HN,

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S. _
PH: 9486379461, 8344933377 L
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Bosor g @ﬁ!ﬂ;iigirrsﬁ V1 /Model question paper VI
60 @yewtmbd oyesi® / Higher Secondary Second Year

. Gsugluflwisd - Chemistry
(rdeotd wopgd HwWip / English & Tamil Version)

gIoOD DTS : 15 PO mMisst +3.00 e Quips WHIOUSKSET : 70
Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
SONDTHT : 1. Swass olanssepd sfursl uHand o seIHT  ILIB gluniésisb

QmmeiTemeayLD. oiFsludHelsy  GampuiGliie ENE LS samareiurenfLLD

o Leamguindsd GHfalssab.
2. Beolb (S16VsUE) SHLIL  emLouilemen WL GG  EIIpHISHESHD éllgéi@aiﬂl%l@ﬁ'ﬁﬂb@lb
LWSTUGSS GeusiBld. LILEISST cUIaISHDE Ousidlsd LWSTLBSDHLD-
Instructions : 1. Check the question paper for faimess of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
Gy : Comeuwnsr GLSSled ULLD QUENIhE FLOGITUT(HESEMET T(IRSHEYLD.
Note : Draw diagrams and write equations wherever necessary
ugd — I/Part-1I
@oiy : 1. SImITSHH sllamabsEns@D ellaLwelldbsab
2. QsrBssuulL BT eflenL&eriled
CaiHesEHS GHWIL BT alenLwisneud CFTIHHI 6I(IDBIS.

15x1=15

L0l 6YLD gbLyemL W ellemLemISH

Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

1. Lenaumeuaeubmisi 6TH SHEUDTEN gamm?
o) La(OH); el Lu(OH), spé STiygud Gmpsurs HTJHSHEOD 2_DL UG
s Ln®" swelssis siwef SPLHUL GHMBSDS!.

o) eonbSeTI6 suflengul
fsb o siten Gafiold  eaLDS 6l @nLEMEL  SHelLoLD

@) La gl pompSHEmIBG OB
aieuBs &l

F)  eonhsemIG GUIHEHBT
QuibmIsTTeTIE.

Which one of the following is not correct?

a) La(OH); is less basic than Lu (OH);
radius of Ln>" ion decreases

tal series rather than lanthanoid series.

efemeneuts Zr OHEID Hf 95 <@ @iy wallleneri

b) In Lanthanoid series ionic

¢) La is actually an element of transition me

d) Atomic radii of Zr and Hf are same because of lanthanoid contraction.

JeiTeImD  SienEmiaF Comommeiey Ebs @D L LB MemeolILHSHTMDEnIL
(CFSE) &1_68na!?

) [Mn(HzO)s]3+

o) [Fe(H:0)" @ [Co(H0)]”" ™ [Co(H20)6]*"

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377
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Among the following complexes, which one shows Zero Crystal field stabilization Chery,
(CFSE) is . -

a) [Mn(H,0),]** b) [Fe(H;0)e]'* ©) [Co(H20)e]” d) [Co(H0)e]

BeIMD opudames Bimy seufamans OIHHD WD '

) WSSH &1) 2 HEGEM @) sWLgBH®D F) &Ibfis0sors @hipedsd eumszs:
The process of converting hydrated aluminia into anhydrous alumina is called.

a) Roasting b) Smelting  c) Auto-reduction  d) Calcination

BF; g BIMBUGSS Curils  efleow deoLsang. Ueem yenCym GBurfd  suflsuwrs
OTBBOUEEMS.  LenGyr Gurhd SfevHHsd D_elenemsy

o) H',F & BF, <) H' &[BF,] o) [HBR]'&F & H ,B¥&F

On hydrolysis BF; gives Boric acid and converted to fluroboric acid. The fluoroboric acid
contains the species.

a) H', F & BF, b) H" &[BF,J c [HBR:]'&F d) H ,B¥&F
5. Ueaumd  sideorissish 615 Siflsvgded O-O Uensmiliy o_siteng)
c9|) HzSO3

<) HpS06 @) H;S;08 &) H»S40s
The acid having O-O bond in its structure

a) H,SO; b) H;S,04 ¢) H,S,04 d) H,;S404

6. OBGRAL CUTHHs Corenissisi eemIemIEen®E N’ etefisd BTSS! Fimsnssts
STERIENN HNBHEG, FLOWTE Amluugs).

3) n 1) 2n @) 2n’ ¥) 3n

The number of close packed spheres is ‘n’. The number of tetrahedral voids generated is equal
to

a) n b) 2n c) 2n? d) 3n

7.2A+2B — C+2D aeip almens@ alensnGous g eiaten? B-sit GEnflansu LTBBTDsY A
&1 Oenfley @rewi® LmIEG 2 WrhHIbGUTE, elensnuis Consiomeng BISE  LMSTEDE.
Gugub A-61  Gafensy  wIHWIOE B-gr Osnfley @rewi® oL miens 2 WISEI GuTy
ellenenuilenr Gousid EHHLRsTEMmE).

o) Gausb =k[A][B]? @) Gausb =Kk[A][B]
®) Gausd =k[A] " [B]? ) G = k[A][B]
What is the rate law of the reaction 2A+2B—» C+2D If the

constant [B] the rate of the reaction increases by factor 4. If ¢t
at constant [A], the rate is doubled.

a) Rate =k[A][BJ?
¢) Rate =k[A]” [B]?

concentration of A is doubled at
he concentration of B is doubled

b) Rate =k[A][B]
d) Rate = k[A][B]
. W/O ursowgeng O/W umsowwns IBEID CFWsd (empuineng
21 HfibgEiCuTssh

Bl) UTEOLDOTEEE (@) FeOGeunL H60
The change of W/O emulsion in to O/W emulsion is Called
a) Coagulation

) Blevsosnio Gpinommit
_-_"-_'_—_
b) Emulsification ¢) Decomposition

GREEN GARDEN -MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377

d) Inversion of phase
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9. ga:agiﬁsﬁfmﬁg(i@@mm?z@ @@Ud@a@ .
<) 2&6ARCBab / Weiipaan jm:]ﬁl@em /mﬂ@jM@@m / aﬁfﬂ%@ﬁmﬂ’@
&) efQurms / Lﬁlé'ﬂ@emﬁm / \feiu 5‘:;% 163 Lﬂm@&?“ /’zﬂ@m@m
) ubSleaCarpy / Weipemen / Lﬂﬁ(?f-r)u afl | 04

@efl / 1sipenen / obsS
The general representation of a fuel cell is
a) Fuel / Electrode / Electrolyte / Electrode / Oxidant
b) Oxidant / Electrode / Electrolyte / Electrode / Fuel
¢) Fuel / Electrode / Electrolyte / Electrode / Reductant
d) Oxidant / Electrode / Electrolyte / Electrode / Reductant
10. Gemouub oFILGLL, SubCureilund  G&Genmeng (G, Gam

(pemmGuw

S) BB, Sifleud, SMTD &) Sifleoid, SyLd, FEHMESSHEND

@) &b, Sifeon, BHHHME ) STy, Sifevwd, ST

The aqueous solution sodium acetate, amomonium chloride, sodium nitrate are respectively
a) Neutral, acidic, basic b) acidic, basic, neutral

¢) basic, acidic, neutral d) basic, acidic, basic

11. UereuGaismeauBpisT 6bS ellenen FHSHMT QaTB&EEWw?

) CszONa + C, Hs Br ——»

311_th804
a91) CH; CH; OH 413K

HBF4

@) CHs CH, OH+CH: Nz %
) GLobaEeiL SINENHDILD-
Which of the following reaction will give ether?
a) C2H50Na + C2 Hs Br——

b) CHs CH, OH 413K
. HBF4

—

c) CHs CH, OH + CH: N2 A
d) Allof the above.

HLOBIBEHES BrTHUSGUH fenenulen  efleneonyfiuid seareoulen @phg eflos

12.  Lsieu@BLD GF

GBUIGSET

(1) CeHsCOCI 2) O @— cocl
3) CHg,_@— cocCl @) OHC-@— cocl
o) 2>4>1>3 o 2>4>1>1
@) 1>2>3>4 w)4>3>2>1
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14.

15.

: 5 : reactivity for hydrolysis reaction_
Arrange the following compounds in decreasing order of reactivity

(1) CeH{COCI 2) OzN—Q—COCI
M CH— Y-cocl @ onc—{_H)-cocl
Q) 2>4>1>3 by 2>4>1>1
¢) 1>2>3>4 d) 4>3>2>1
02 NOz
A
r T —> B ‘A’ aebugl
N=N-Cl
S) HiPO; wimiv H,0 &) HY/H,O
&) HgSO4H,S0, 7 Cu,Cl,
1NH; INOZ
A‘\
QBT = = @Br ‘A’ is
N=N-Cl
a) HiPO; and H,0 b) H'/H,0 ¢) HgSO4H,S0,4 d) Cu;Cl,

GE&ECsted HCN  eflensnGurmsit ﬁurrr;w@&,gbei): eflensn@QuUIT[H6iT HIAi Gaimob A eTeiiugy
S) Gamli_emuls oudeon &) 2-26wnBLr GamsBs s

) CaniGLesr F) Gamii_simsd
Glucose HCI:] Product hydrolysis, Product HIA A, the compound ‘A’ is
a) Heptanoicacid b) 2-iodohexane c) Heptane d) Heptanol

FBO : 96 GFIIST HyoTEIH iH6H Cwrss Cesrlustey (TFM LHUY) sngtusnuis

GOUUILLLGEBEI.

smeod: BIS &5  mMiremulsssiig (S0 &

wFlldu Qeraiigmess CauamBL. |

S) FBO LMD &b  GrenGn & Gogoib
el 6T & &ELOM G LD

) bE OB  &MeND  @renen & QUEITEL  STyemILD,
ellen & H10606V

&) Fmpm &Ml yemed SMyewd Heugyy)

F) DOl whmId &1yemd @IeEn Seum

Assertion: The quality of soap is described in terms of total fatty matter (TFM value)

Reason : As per BIS Standards, Grade-I s0aps should have 60% minimum TFM value.
a) Both assertion and reason are true and reason is co
b) Both assertion and reason are true but reason isno
c) Assertion is true but reason is false.
d) Both assertion and reason are false.

Irect explanation of assertion
t the correct explanation of assertion
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16.

17.

18.

19.

20.

211!

22.

23.

24.

23.

26.

27.

28.

: U — 11/ Part -1 6x2=12
DI:L ) TRENT Y :
o TMEEEES efenLwiehses, ollenm elewr 24 &@ &LLMUIONE

LW &ayb, 2

Answer any six questions,
CO 9w P6EGD Smyen).
COisa reducing agent. Just

Question No. 24 is compulsory.

V0 TBSEIBET_BLell Qbampery Hmieys
ify with an example,

AevLPamsog; SAMOBIEST 5155 2_OmGBlememuws Qarai@sienar. ei?
Transition metals show high melting points why?

BISIPE L60g 60 d-gnicLmed ugsysoL demiy UL euenys

In tetrahedral field, draw the figure to show spilitting of d-orbitals.

SIS HJLL 60 WU aTeimred raion?

What is flocculation value?

OS50 mHe 2 Geomshimamen LTEmIHS aPT(penal UTHISTLL esuauTp & SHadms?
How cathodic protection helps to protect the metal from corrosion?

UenIH SBUUNEITISST eTeiiug wig? o_GIyend &,

What are Antiseptics? Give an example

QFurliuwir - Guuisban wes LB (SIS

Write a note on Sabatier — mailhe method?

Junindles oufleod fpbhs @EsGL sMeilwure CFUSUGHADE g&1? QBESGL  UsHMUS
STLBD @ elemearenwl (SIS

Why formic acid act as strong reducing agent? Give one equation to show its reducing
property.
(pHs0 aums eflnanulsr  elmenBas wredule w LYy 1.54x107 ST

fIaled DI
SIDIUTPETEVD HetiBLIgHE.

The rate constant for a first order reaction is 1.54%10™ S™ Calculate its half life time.

ugd — III/Part-—1III 6x3=18
geoaD U@ CIAMEEEHSE el wefles. ellem et 33 &@ &SLLTWIOTS
ellenLwiefd&EaLb. .
Answer any six questions. Question No. 33 is compulsory.
L6 & EITUIHLOWIT S H60 umml @@Uu AUMTH
Write short notes on Zone refining process.
@ el 2 (L, Sleneueys QTGS eN(HHES 6T16UeUTDI CoupuBaIma?
How double salt differs from co-ordination compounds?
T Mn®* owelssisd 2_eien Safiss aoslgmamais geiamismsamu semiGily whpb
J
N - . . ; A,
B 60 LLSHEme  DSHIUEHULD SH6mTe
s - i in Ti**, Mn** and calculate the spin only Ma :
Calculate the number of unpaired electrons in Ti™, Mn™" and calculate p y Magnetic
alc
moment. -
SILOEVHMTHIBED HeJFEIeT GFUISOIPEHTEMUI elend &%
Explain buffer action of acidic buffer GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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29,

30.

Sk

32.

83.

34.

WEREAW suenss eflenen aiiimist asien? Lygzdius engndss sflonemde Gan sy s,

What is Zero order reaction? Derive rate law for a Zero order reaction.

Ugs  aiefldGmnemen wimih amoendam aionyuiml.

Define the terms crystal lattice and unit cell

) l-admndbsOugi-1-amen  gm  Guiss  HI o is  ellmmluBahmmiung 2 oy,
oo ellensnGiunmsnand semi_ (i,

The major product formed when 1-cthoxy prop-lenc is heated with one equivalent of HI

i) 1-Usnensd eigmenmensy oufeons ey KMnOs 216 saneniiGis ase Hmipb.

What happens when 1-phenyl ethanol is treated with acidificd KMnQ4?

CFsoaBeonsto WwHmIL HBEGITaTIsH AIgIEHIOLILIGIET MIEHYS.

Draw the structures of cellulose and Sucrose.

Usiieumd sflsnsnauflenguisy »_siten A, B wimib C b Bsiwismensn SeHLls

HegO H,0 NaNO,/HCI
CHiCHNC ———p p 2, g /00

H,0

Identify Compounds A, B and C in the following sequence of reaction.

HeO H,0 NaNO,/HC]
CHICHING ey, = i, e

H,0O

ugg® -1V / Part-IV 5%5=25

Bp&ETEpId aleMmesEnsEe elen welssa]b:
Answer the following questions.
a) 1) [Fe(en); Cl;] Cl; sishmm aiememiays Gaiiomsenss

1) Fe-s1 mus41Benmm s1em

2) EemdsHsull Wwmm Sienwly

3) &MbHEH HENTLD

4) sugsy B wrissilen sievienidaens

5) gefawpndl wibhub 2_esin?

6) IUPAC Guuwi
DB UDND  61(IHHIH
(i) opniefiws grentsd Cr0; aeng Cr aus ssionm @RésILGHDE?

(21606081)

b) i) Xeen Gomomsemen mbHenen 6wpHs N Gembmsoriy, OHOID SISO
B WIUDBEND  61(LDSHIB.
a) i)  For the complex [Fe (en); Cl;] Cl; , identify
1)Oxidation number of Fe
2) Hybridisation and shape
3) Magnetic behavior
4) Number of geometric isomers
5) Whether there may be optical isomer also?
6) IUPAC name. GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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i1) How Cr,0; is reduced to Cr by Al powder?

(OR)

List a
ny five compounds of xenon and mention the type of hybridization and Structure
of the compounds.

a) 1)

35. a) 1)
11)

&@@Tm& Gamomisela WEHHHN LWEHN Bre®d GHUUGS.
BCIMm wiBflwriset admTsy stanen? G 2SS elNbGHS.
i (DI6LEVH))
b) 1) Uflens (peomulsn cpsold galpomissit SUTAGSULGID APSID (PEHDHEDET alsnHEHD-
ii) snpoiisafie WHSHHU LWHIHEDET FaDIs.
a) 1) Write any two medicinal uses of co-ordination compounds
i) What are hydrate isomers? Explain with an example.
(OR)
a) i) Write any three condensation methods of preparation of colloids
ii) Mention the medicinal uses of colloids.
36. a) eusdenio 108 Sibeold WBDID eI GMB ST 2 GAUTEGLD o (is BITBUBHHDHE
wred wipib pH pdweubens augel.
(S16060&!)
b) i) o-EmsT 2 GaUTHD UBH GUUY uMmT&H
ii) enpLCIT SLLBEBEE LSBT 6T(DSIS.
a) Derive expression for hydrolysis constant and pH of Salt of weak acid and strong base.
(OR) |
a) i) Write a note on formation of o -helix.
ii) Write the uses of nitroalkanes.
37. a) i) eugeuEids  LOHDID (peudbannl  elengseTe Sl UTsd  UsOLIQHsTT  sTsUsuTHl
suenalILBHHILGHDH? eIOTSIPIDBEGD 2 HJemID QETBSBHNLD.
(216060%1)
b) i) b s oufleod DI H,SO, shsilensouisd ahHATILST  alsnayflubCurg
P @5,@5@;1@1? Q6 slenenaufi(pspemil allsToE .
i1) Seiauqpsusarsubilsd RIS BEH QBT ool el QUWISNT T,
(3) ol Weid
(4) UTGHIHIOLILID LDEILD
d on the basis of structurc and molecular forces, give examples

(1) sumempUILILP LOGTOTLD
2) eyedlup e
a) How polymers are classifie

of each one.
(OR)

a) i) What happens when ethanoic acid reacts with ethanol in the presence of con H,SOy.

Give its complete mechanism.
ii) Name the ester which has the following flavour?
(1) Banana (3) Pineapple
(2) Orange (4) Apricot
18, a) g6 oem FCC oepwinier LigsoTapg. Gogid SHHT SILTHS l0gem™ wHubd SigHs
DIVEHTaL 196 sflefioy  emb  100pm. 18 LyBEHHs — oeen  Signbsais
cst e e BT EDENES 6L M. GREEN GARDEN MATRICTIHR. SEC. SCHOOL
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b) C:HeO (A) i afios Gsinod awit HaSOs 2 L 443K-60 GauluinGhs Bengyy,
oant Gnemugt C;Hy,  (B) gy GsiBédng. @pma Opiiibg Guuismesd,, ,
SeaiuBss Gsinon CHeO; () O&iBddng. Bn Hrefubs  Bubdyusd,
Cro@uiLissiisy o.em e Guigsmal uwsLBSDE. 8o (C) Bt HSo,
SUTEnsY  eupadb@WwGUTEH susmsmws  Brmowasy (C4HgOz) (D) ma CaiBssD5 Gug,.
oo (A) @ @il HaSO, o Ler 413K-s0 GawiuiuBshs Gsmon CiHiwO (E) g

Oan@ading eafsd (A) wme () aueny o_sien Boinwimsnsms ssiLBha Alanamsams,
WD,

An atom crystallizes in FCC crystal lattice and has a density of 10gem™ with unit cell edge
length of 100pm. Calculate the number of atoms present in 1g of crystal.
(OR)

b) An organic compound C;HqO (A) heated with Con H,SOy4 at 443K to give an unsaturate:
hydrocarbon C; Hy (B). which on treatment with Bayer's reagent to give compound CyHgO-
(C) which i‘s used as antifreeze in automobile radiator. Compound (C) distilled with co-
H2§?4 o give cyclic compound C4Hs0; (D). Compound (A) is heated with Con HaSO, =
413K to give compound C4H,,0 (E). Identify Compounds (A) to (E) and write equations.
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